NWA3550

802.11a/b/g Outdoor WLAN Access Point

Quick Start Guide

Version 3.60
8/2008
Edition 2

DEFAULT LOGIN

IP Address http://192.168.1.2
Password 1234

Table of Contents

ENGLISH 2
DEUTSCH 16
ESPANOL 32
FRANGAIS 48
ITALIANO 64
PYCCKUA 80
SVENSKA 96

Al A 3 110
LS I 124

ZyXEL

Copyright © 2008. All rights reserved.



ENGLISH

Overview

This Quick Start Guide shows how to set up and configure the NWA3550 Access Point
(marked AP in the figure) to allow wireless clients to securely access your wired network.
See your User’s Guide for more information.

B g s
i

- - Ethernet ~
7 | AN
7/ AN
/ AN
/ | \
/ T \
| - |
\ [ AP I
\ — /‘ /
\ /
N — ~
N / /
> ~ 7 - -

/@5 You may need your Internet access information.

This guide shows you how to:

1 Connect the Hardware

2 Access the Web Configurator
3 Configure the NWA3550

4 Install the Hardware




ENGLISH

1 Connect the Hardware

A

MS-POE-IJ

1 Use an Ethernet cable to connect the Ethernet port (opposite the power socket) on the
included MS-POE-IJ power injector (A in the figure) to the NWA3550’s Ethernet port.

2 Use an Ethernet cable to connect the other Ethernet port (next to the power socket) to
a computer for initial configuration.

3 Connect the power injector to a proper power source using the included power cord.
The NWA3550 receives it's power from the power injector using PoE (Power over
Ethernet).

4 After you have completed the initial configuration, connect the Ethernet port (next to the
power socket) of the power injector to an Ethernet jack with network access (for
example, a broadband modem or router).

1.1 Power Injector Light

» The LED (light) on the power injector shines green steadily when the power is connected.

? If the LED does not turn on, check your connections and inspect the cables
for damage. If the LED is still off, contact your vendor.




ENGLISH

2 Access the Web Configurator

g Use Internet Explorer 6.0 and later or Netscape Navigator 7.0 and later
versions with JavaScript enabled and pop-up blocking disabled.

2.1 Set Up Your Computer’s IP Address

g Note down your computer’s current IP settings before you change them.

First, set your computer to use a static IP address in the 192.168.1.3 - 192.168.1.254
range with a subnet mask of 255.255.255.0. This ensures that your computer can
communicate with your NWA3550. See your User’s Guide for information on setting up
your computer’s IP address.

2.2 Log Into the Web Configurator

,@f Even though you can connect to the NWA3550 wirelessly, it is
recommended that you connect your computer to the Ethernet port for
initial configuration.

1 Launch your web browser. Enter
192.168.1.2 (the NWA3550’s default
IP address) as the address.

| File Edt Wew Favorites Tools Help

| address | hetp:ir92.168.1.2 |

? If you cannot access the Web configurator, make sure the IP addresses
and subnet masks of the NWA3550 and the computer are in the same IP
address range (see Section 2.1).




ENGLISH

2 Click Login (the default password
1234 is already entered).

NWA3550

Enter Password and click Login.

Password:

3 Change the login password by
entering a new password and

clicking Apply. Be sure to record the Use this screen to change the password.

new password and keep it in a safe
place. New Password: =

Retype to Confirm: |

?

° If you change the password and then forget it, you will need to reset the
NWA3550. Contact your vendor.

4 Click Apply to replace the factory
default certificate for added security;
alternatively click Ignore to proceed Replace Factory Default Certificate

if you do not want to Change the The factory default certificate is common to all

certificate now. NWA models. Click Apply to create a certificate
using your NWA's MAC address that will be specific
to this device.




ENGLISH

5 The STATUS screen appears.

3 Configure the NWA3550

3.1 Configure System Settings
1 Click SYSTEM in the navigation panel.

ZyXEL

STATUS

MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

ZyXEL

STATUS

MGNT MODE

Automatic Refresh Interval [None | Refresh

SYSTEM
WIRELESS
P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
VLAN

MAINTENANCE

LoGoUT




ENGLISH

2 The SYSTEM > General screen appears.

SYSTEM

Password Time Setting

MNYWA-Series

General Setup

System DNS Servers

System Name is for identifying the NWA3550 on your network. Choose a distinctive
name, or leave this at its default.

Domain Name: Enter a domain name if your ISP requires one for authentication.
Otherwise you can leave it blank or set to whatever may have displayed automatically.
DNS Server(s): if your ISP gave you specific DNS (Domain Name System) settings, select
User-Defined and enter them here. Otherwise, leave these fields at their defaults.

3 Click Apply.




ENGLISH

3.2 Configure Wireless Settings

1 Click WIRELESS in the
navigation panel. The
following screen
appears.

Wireless SSID Security RADIUS Layer2 lsolation  MAC Filter

WLAN Interface WLANT ~

Operating Mode Access Point >

802.11 Mode 602 11b+y )

¥ Super Mode

Choose Channel ID Channel06 2437MHz v

RTS/CTS Threshold 2345 s wasany

Fragmentation Threshold [2345 (250 - 2048 (Fagmentation thrsshold shall be an even numiber)

Beacon Interval 100 tms = 1000ms)

DTIM i @1 - 100)

Output Power 0% v

SSID Profile 55003~

Rates Configuration

| _Rate [ Configuration | Rate | Configurafion |

1 Mbps Basic . 2 Mbps Basic .
5.5 Mbps [Basic  ~| 11 Mhps [Basic =]
& Mbps [Optional ] 9 Mbps [Optional =]
12 Mbps [optional v 18 Mbps [optional =]
24 Mbps |Optional ~| 36 Mbps [Optional =]
48 Mbps [optional ] 54 Mbps [optional =]

I Enable Spanning Tree Protocol (STP)

I Enable Roaming

(STP and Raaming ars cammen setings. Tha changes 3 forbth WILAN Iterfase2.)

Apply Reset

,@5 The wireless stations and the NWA3550 must use the same SSID,
channel ID and encryption settings for wireless communication.

WLAN Interface: Ensure that WLAN1 is selected.
Operating Mode: Ensure that Access Point mode is selected.

802.11 Mode: Select the wireless standard you want your network to use. If you are not
sure which to select, select 802.11b+g.

Choose Channel ID: Select the wireless channel you want your network to use. To have
the NWA3550 automatically select a channel, click Scan instead.

SSID Profile: Select the SSID profile you want to configure for network access from the
drop-down list box. This example uses the SSID03 profile.

2 Click Apply to save your settings.




ENGLISH

3 Click the SSID tab. The

following screen appears.

Ensure the settings for
SSIDO03 are at their default
values.

The default SSID (the name
of the network) is ZyXELO03,
its default Security setting is
Security01. Layer 2
Isolation and MAC Filter

are set to Disable by default.

If you want to change the
SSID profile’s settings,
select SSID03 and click
Edit.

4 Click the Security tab.
Ensure that Security01 is
selected and click Edit.

If you don’t configure
wireless security, anyone
can access your network.

Wireless | SSID | Security RADIUS  Layer? Isolation MAC Filter
it tomd 50| vy | s || L 8
N volp SSID | ZyXELD1 | securitydl | radius)t volP Disable
L " TSI
SSID03 | ZyXELO3 | securiydl | radius)l NONE Disable
Dl ssioos ZyXELOS | securitydl | radius0l NONE Disable Disable
DIl ssioos ZyXELUG | securitydl | radius01 NONE Disable Disable
DEN| ssioor ZyXELD? | securiydl | radiusd1 NONE Disable Disable
I ssiD0s | ZyXELOB | securitydl | radiusdi NONE Disable Disable
[N ssi0s | ZyXELOS | securitydl | radiusdt NONE Disable  Disable
NN ssiD10 | ZyXELID | securitydl | radiusdt NONE Disable  Disable
N sson ZyXEL1 | securitydl | radiusdl NONE Disable  Disable
DN ssip1z | zyXEL1Z | securitydl | radiusdl NONE Disable  Disable
DN ssioi ZyXEL13 | securiydl | radiusd1 NONE Disable Disable
DE ssioie ZyXEL14 | securitydl | radius01 NONE Disable Disable
SSID15 ZyXEL15 securityl1 radius01 NONE Disahle  Disable
SSIDIG | ZyNEL16 | securiydl | radiusdl NONE Disable Disable.
Wireless  SSID | Security | RADIUS  Layer2 Isolation MAC Filter

Index

Profile Name

ecurity Mode

| e | | securityl3 None
| » | | securityld None
| e | | securityl5 None
| » | | securityl6 None
| e | | securityl7 None
| » | | securityl8 None
| e | | security9 None
| » | | securityl0 None
| e | | securityl1 None
| » | | securityl2 None
| e | | security3 None
| ¢ | 1| securityld None
| o | 15 | securityl5 None
| ¢« | © | securityl6 None




ENGLISH

5 This is where you can enter [Wireless  ssib | Secuiy | RADIUS  Layer2 llation WAC Filter

the security settings for p— oo
your wireless network. The Security Mode ; WRALFEK

. S8 . Pre-Shared Key : Thisismy\WPAZ-PSKPresharedkesy]
fields y'ou fill in differ ReAuthentication Timer : 1800 (in seconds)
according to the type of 1dle Timeout : [2600 | {in seconds)
security you select in the Group Key Update Timer : 1800 {in seconds)

Security Mode field. Select
None if you do not wish to
use wireless security.

Feset

This example uses WPA2-
PSK security, in which all
wireless clients must use the
same pre-shared key to join
the network.

Ensure that all your wireless
clients support the type of
security you set. Click Apply
when you have finished.

? If the wireless clients cannot communicate with the network, ensure that
the clients and the NWA3550 are using the same wireless security
settings.

10



ENGLISH

3.3 Configure IP Settings

1 You need to set your P
NWA3550’s IP address to be
in the same subnet as your

network. Click IP in the " Get automatically from DHCP
" Use fizxed IP address

navigation panel. 1P Address ooz
Select Get automatically from IP Subnet Mask [255 255 255.0
DHCP if you want to have a Gateway IP Address [ino0

DHCP server on your network

assign an IP address to the

NWA3550. Resat |

If you have a specific IP address
to use, select Use fixed IP
address and enter it along with
the subnet mask and gateway
IP address.

Click Apply. The NWA3550 now
uses the new IP settings; you
can no longer connect to the
NWA3550 using the default IP
address.

,@5 If you change the NWA3550’s IP address, you must use the new IP
address when you next access the web configurator. If you select Get
automatically from DHCP, check your DHCP server to determine the IP
address it assigns to the NWA3550. Refer to your DHCP server’s
documentation for more information.

2 If you changed your computer’s IP address in Section 2.1, return it to its previous
setting.

3 Change the wireless settings in the wireless stations to match those of the NWA3550.
Refer to your wireless adapter’s documentation.

The NWAS3550 is now ready to connect to your switch or router. You can do this now, or
once you have attached the antennas and mounted the NWA3550.

11



ENGLISH

? If the NWA3550 cannot communicate with the network, ensure that the
NWA3550 is using an IP address on the same subnet as the switch / router.

4 Install the Hardware

Complete the following procedures to install the NWA3550 on a pole or wall.

4.1 Hardware Mounting

In general, the best location for the access point is at the center of your intended wireless
coverage area. For better performance, mount the NWA3550 high up in an area that is free
of obstructions.

4.1.1 Package List

You need the following:

1 One Wall/Pole Bracket 7 One M8 Nut

2 One Articulation Bracket 8 Four M5*12 Screws

3 One Pole Mounting Bar 9 Four M5 Washers

4 Three M8%110 Screws 10Four Wall Mounting Screws
5 Three M8 Washers 11Four Masonry Plugs

6 Three M8 Spring Washers

12



ENGLISH

4.1.2 Assembling the Mounting Bracket

1 Use one M8*110 screw, one M8 washer, one M8 spring washer and one M8 nut to
attach the wall/pole bracket to the articulation bracket.

4.1.3 Pole Mounting

1 Align the mounting bracket with the holes —
on the rear of the NWA3550. Insert four S
M5*12 screws into the holes and use a o0
wrench to tighten the screws with the M5 S = ”
washers. ~ ”

2 Place the mounting bracket around a pole.
Align the pole mounting bar with the holes
on the wall/pole bracket. Insert two M8*110
screws into the holes and use a wrench to
tighten the screws with the M8 washers
and M8 Spring Washers.

13



ENGLISH

3 Adjust the NWA3550, cables and antennas for correct
orientation.

4.1.4 Wall-mounting
1 Select a position free of obstructions on a sturdy wall.

2 Position the wall/pole bracket on the wall to mark how far apart the screws should be
placed. Drill four holes for the masonry plugs.

/@ Be careful to avoid damaging pipes or cables located inside the wall when
drilling holes for the screws.

3 Insert the masonry plugs into the wall.

,€§ The included screws and masonry plugs are intended primarily for use with
concrete walls. You may need to use different screws and plugs, depending
on your wall's material.

4 Align the mounting bracket with the holes .
on the rear of the NWA3550. Insert four
M5*12 screws into the holes and use a [
wrench to tighten the screws with the M5 {
washers. M
5 ; |
0 0
0 0
— )

14



ENGLISH

5 Install four wall mounting screws through the holes on
the wall/pole bracket into the plugs to secure the —
mounting bracket to the wall. Make sure the screws are
snugly and securely fastened to the wall.

6 Adjust the NWA3550, cables and antennas for correct
orientation.

4.2 Attaching Antennas

Screw the antennas clockwise onto the antenna connectors on the bottom of your
NWA3550.

Make sure the antennas are securely screwed onto the antenna connectors.

See your User’s Guide for the list of compatible antennas.

Procedure to View a Product’s Certification(s)

1 Go to www.zyxel.com.

2 Select your product from the drop-down list box on the ZyXEL home page to go to that
product's page.

3 Select the certification you wish to view from this page.

15



DEUTSCH

Ubersicht

In dieser Kurzanleitung erfahren Sie, wie der NWA3550 (im Beispiel unten mit einem AP
gekennzeichnet) installiert und konfiguriert wird, damit Wireless-Clients sicher auf |hr
kabelgebundenes Netzwerk zugreifen kdnnen. Weitere Informationen finden Sie im

Benutzerhandbuch.

€ g s
i

P - Ethernet ~
s | N
/ AN
/ \
/ | \
/ T \
| o ]
\ ,' AP I
\ ~7 ] /
\ e
\ — 7
N /
> ~ ~ -~ -
~ - — -

,@ Halten Sie die Daten fir Ihren Internetzugang bereit.

In dieser Anleitung wird beschrieben, wie Sie Folgendes tun kénnen:

1 Die Hardware anschlieRen.

2 Auf den Web-Konfigurator zugreifen.
3 Den Internetzugriff konfigurieren.

4 Die Hardware installieren.

16



DEUTSCH

1 AnschlieBRen der Hardware

A

MS-POE-IJ

1 SchlieRen Sie ein Ethernetkabel an den Ethernetanschluss (gegentber dem
Netzanschluss) des mitgelieferten MS-POE-IJ Power Injectors (in der Abbildung A) an
den Ethernet-Anschluss des NWA3550 an.

2 Schliel3en Sie ein Ethernetkabel an den anderen Ethernetanschluss (neben dem
Netzanschluss) fir die Erstkonfiguration an einen Computer an.

3 Verbinden Sie den Power Injector mit dem mitgelieferten Netzkabel an das Stromnetz.
Der NWA3550 wird mit dem Power Injector Uber PoE (Power over Ethernet) mit Strom
versorgt.

4 Wenn Sie die Erstkonfiguration abgeschlossen haben, verbinden Sie den
Ethernetanschluss (neben dem Netzanschluss) des Power Injectors mit einer
Ethernetbuchse mit Netzwerkzugriff (z. B. Breitbandmodem oder Router).

1.1 Anzeige-LED des Power Injectors

» Die Anzeige-LED (Lampe) des Power Injectors leuchtet stetig griin, wenn das Gerat mit
Strom versorgt wird.

17



DEUTSCH

?

° Wenn die LED nicht leuchtet, prifen Sie die Kabelverbindungen, und
stellen Sie sicher, dass das Kabel nicht beschadigt ist. Wenn die LED
weiterhin nicht leuchtet, wenden Sie sich an lhren Handler.

2 Zugreifen auf den Web-Konfigurator

£§ Verwenden Sie den Internet Explorer 6.0 oder den Netscape Navigator 7.0
und neuere Versionen davon mit aktiviertem JavaScript und aktivierter Pop-
up-Funktion.

2.1 Einrichten der IP-Adresse des Computers

£§ Notieren Sie sich die aktuellen IP-Einstellungen des Computers, bevor Sie
sie andern.

Richten Sie den Computer zunachst so ein, dass er eine statische Adresse im Bereich
192.168.1.3 bis 192.168.1.254 mit der Subnetz-Maske 255.255.255.0 verwendet. Nur auf
diese Weise kann lhr Computer mit dem NWA3550 kommunizieren. Informationen zum
Einrichten der IP-Adresse des Computers finden Sie im Benutzerhandbuch.

2.2 Anmelden beim Web-Konfigurator

/@5 Auch wenn Sie eine drahtlose Verbindung zum NWA3550 herstellen
kénnen, wird empfohlen, das Gerat fur die Erstkonfiguration tber den
Ethernet-Anschluss an den Computer anzuschlief3en.

1 Starten Sie lhren Webbrowser.
Geben Sie als Adresse 192.168.1.2 | -
(die Standard-IP-Adresse des | Address | https/j1oz.168.1.2 [
NWA3550s) ein.

| File Edit ‘Wwiew Fawvorites Tools  Help

18



DEUTSCH

?

° Wenn Sie nicht auf den Web-Konfigurator zugreifen kénnen, prifen Sie,
ob die IP-Adressen und Subnetz-Masken des NWA3550s und des
Computers im selben IP-Adressbereich liegen (siehe Abschnitt 2.1).

2 Klicken Sie auf Login (Anmelden)
(das Standardkennwort 1234 ist

bereits vorgegeben). NWA3550

Enter Password and click Login.

Password: [~

3 Andern Sie das Kennwort, indem Sie
ein neues Kennwort eingeben und
auf Apply (Ubemehmen) klicken. Use this screen to change the password.
Notieren Sie sich das neue Kennwort
und bewahren Sie die Notiz an HexRassuands =

einem sicheren Ort auf. Retype to Confirm: —

?

° Wenn Sie das neue Kennwort vergessen haben, muss das NWA3550
zurlckgesetzt werden. Wenden Sie sich an lhren Handler.

19



DEUTSCH

4 Klicken Sie auf Apply
(Ubernehmen), um das werkseitig

eingerichtete Standardzertifikat fiir Replace Factory Default Certificate
zusatzliche Sicherheit zu ersetzen. The factory default certificate is common to all
Sie kdnnen jedoch auch auf Ignore NWA models. Click Apply to create a certificate

: : : using your NWA's MAC address that will be specific
(Ignorieren) klicken, wenn Sie das BT

Zertifikat jetzt nicht andern mochten.

5 Das STATUS-Fenster erscheint. ZyXEL

STATUS
MGNT MODE Automatic Refresh Interval [None |  Refresh

SYSTEM
WIRELESS
P

ROGUE AP
REMOTE MGNT
AUTH, SERVER
CERTIFICATES

2073248

/120
/128

VLAN

MAINTENANCE

LogouT

Sho Statistca

3 Konfigurieren des NWA3550s

3.1 Konfigurieren der Systemeinstellungen

1 Klicken Sie in der Navigationsleiste auf SYSTEM (System).

ZyXEL

STATUS
MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

20



DEUTSCH

2 Das Fenster SYSTEM > General (System > Allgemein) erscheint.

General Password Time Setting

Systemn Name INWA—Series

Domain Name I

Administrator Inactivity Timer ISD (minutes, 0 means no timeout)

System DNS Servers

First DNS Server INone 'l ID.D.D.D

Second DNS Server INone 'l ID.D.D.D

Third DNS Server INone 'l ID.D.D.D
Apply Reset |

Der System Name (Systemname) identifiziert den NWA3550 in Ihrem Netzwerk.

Wahlen Sie einen Namen oder belassen Sie diesen als Standard.
Domain Name (Domainname): Geben Sie einen Domainnamen ein, wenn |hr

Internetdienstanbieter diesen fir die Authentifizierung benétigt. Sie kdnnen dieses Feld
auch frei lassen oder den Eintrag belassen, der automatisch angezeigt wurde.

DNS Server(s) (DNS-Server): Wenn lhnen Ihr Internetdienstanbieter bestimmte DNS-
Einstellungen (Domain Name System) vorgegeben hat, wahlen Sie die Option User-

Defined (Benutzerdefiniert), und geben Sie sie hier ein.
3 Klicken Sie auf Apply (Ubernehmen).




DEUTSCH

3.2 Konfigurieren der Drahtloseinstellungen

1 Klicken Sie in der
Navigationsleiste auf
WIRELESS (Drahtlos).
Das folgende Fenster
erscheint.

Wireless SSID

WLAN Interface
Operating Mode

802.11 Mode

' Super Mode

Choose Channel ID
RTS/CTS Threshold
Fragmentation Threshold
Beacon Interval

DTIM

Output Power

SSID Profile

Rates Configuration

Security

RADIUS

WLANT ~
Access Point >
60211b+y

Channel- 06 2437MHz ¥
2346 (256 ~ 2348)

2345 o0 2248 Cragmentation threshold shal be an even number)
[}
1

Layer-2 Isolation MAC Filter

1 (20ms = 1000ms)
ot - 100y

100% !

S5I003 [

[ Rate [ Configuration ____| _Rate [ _____ Configuration __|

1 Mbps

Basic ¥

2 Mbps Basic v

5.5 Mbps

[Basic |

[Basic  ~|

11 Mbps

6 Mbps

[ Optional =]

9 Mbps

[ Optional -]

12 Mbps

[Optional =]

[optional v

18 Mbps

24 Mbps

[Optional =]

36 Mbps [Cptional -]

48 Mbps

[ Optional =]

[optional 7]

54 Mbps

¥ Enable Spanning Trel

I Enable Roaming
(TP and Roaming ars cor

e Protocol (STP)

mimon settings. The shangas are for bath WILAN Interfases )

Resat

,@5 Die Drahtlosstationen und das NWA3550 miissen flr die
Drahtloskommunikation dieselbe SSID, dieselbe Kanal-ID und dieselben
Verschlusselungseinstellungen verwenden.

WLAN Interface (WLAN-Schnittstelle): Wahlen Sie die Option WLAN1.
Operating Mode (Betriebsmodus): Wahlen Sie als Betriebsmodus die Option Access

Point.

802.11 Mode (802.11-Modus): Legen Sie den Drahtlosstandard fest, mit dem das
Netzwerk arbeiten soll. Wenn Sie unsicher sind, wahlen Sie 802.11b+g.

Choose Channel ID (Kanal-ID wahlen): Wahlen Sie den Drahtloskanal, den Ihr Netzwerk
verwenden soll. Damit das NWA3550 automatisch einen Kanal wahlt, klicken Sie auf

Scan (Suchlauf).

SSID Profile (SSID-Profil): Wahlen Sie aus dem Listenfeld das SSID-Profil aus, das Sie
fur Ihren Netzwerkzugriff konfigurieren méchten. In diesem Beispiel wird das Profil

SSIDO03 eingerichtet.

2 Klicken Sie auf Apply (Ubernehmen), um die Einstellungen zu speichern.

22




DEUTSCH

3 Klicken Sie auf die
Registerkarte SSID. Das
folgende Fenster erscheint.

Wahlen Sie bei SSID03 die
Standardeinstellungen.

Die Standard-SSID (der Name
des Netzwerks) ist ZyXELO03,
die Standardeinstellung bei
Security (Sicherheit) ist
Security01 (Sicherheit01).
Layer 2 Isolation (Layer-2-
Isolierung) und MAC Filter sind
standardmaRig auf Disable
(Deaktivieren) eingestellt.

Wenn Sie die Einstellungen des
SSID-Profils andern méchten,
wahlen Sie SSID03, und
klicken Sie auf Edit
(Bearbeiten).

4 Klicken Sie auf die
Registerkarte Security
(Sicherheit). Wahlen Sie die
Option Security01, und klicken
Sie auf Edit (Bearbeiten).

ireless ecurity

| Jeorpuonie tons|_ssio mm sl i

ayerZ lsolation

ilter

N volp SSID | ZyXELD1 | securitydl | radius)t volP
SSID03 | ZyXELO3 | securiydl | radius)l NONE
Y. securl radu: Disable
Dl ssioos ZyXELOS | securiy0l | radiusdl NONE Disable Disable
DIl ssioos ZyXELUG | security0l | radius01 NONE Disable Disable
DEN| ssioor ZyXELD? | securiydl | radiusd1 NONE Disable Disable
I ssiDos | ZyXELOB | securitydl | radiusdi NONE Disable Disable
[N ssi0s | ZyXELOD | securitydl | radiusdt NONE Disable  Disable
NN ssiD10 | ZyXELID | securitydl | radiusdt NONE Disable  Disable
O sson ZyXELM | securitydl | radiusdt NONE Disable  Disable
DN ssip1z | zyXEL1Z | securitydl | radiusdt NONE Disable  Disable
DN ssioi ZyXEL13 | securiydl | radiusd1 NONE Disable Disable
DEl ssion ZyXELM | securiy0l | radius0l NONE Disable Disable
DB ssiois ZyXEL15 | securidl | radiusd1 NONE Disable Disable
IR ssiD16 | ZyXEL16 | securiydl | radiusdt NONE Disable Disable.
Edit
Wireless SSID Security RADIUS Layer-2 Isolation MAC Filter
Cormrertnr Mo

securi1 None

| securityD3 None

| security0d None

| securityDs None

| securityl6 None

| securityD? None

| security08 None

| securityD9 None

| securityl0 None

| securityl1 None

| securityl2 None

| securityld None

| securityld None

| securityld None

| securityl6 None

23




DEUTSCH

5 Hier kdnnen Sie die
Sicherheitseinstellungen fir
lhr Drahtlosnetzwerk
eingeben. Je nachdem,
welchen Sicherheitstyp Sie im
Feld Security Mode
(Sicherheitsmodus) wahlen,
werden andere Felder
angezeigt. Wahlen Sie None
(Keine), wenn Sie keinen
Sicherheitsmodus verwenden
mochten.

In diesem Beispiel wird der
Sicherheitsmodus WPA2-PSK
verwendet. Damit die Wireless-
Clients auf das Netzwerk
zugreifen kénnen, missen sie
denselben PSK-Schlissel
verwenden.

Stellen Sie sicher, dass alle
Wireless-Clients den gewahlten
Sicherheitstyp unterstitzen.
Klicken Sie abschlieRend auf
Apply (Ubernehmen).

6 Klicken Sie in der
Navigationsleiste auf IP.

Wenn Sie eine IP-Adresse
haben, wéhlen Sie die Option
Use fixed IP address (Feste
IP-Adresse verwenden) und
geben Sie sie zusammen mit
der Subnetz-Maske und der
Gateway-IP-Adresse ein.
Anderenfalls wahlen Sie Get
automatically from DHCP
(Automatisch vom DHCP
laden). Klicken Sie auf Apply
(Ubernehmen).

Wireless SSID Security RADIUS Layer-2 Isolation MAC Filter
Name : security0
Security Mode ; m
Pre-Shared Key : Thisismy\WPAZ-PSKPresharedkesy]
ReAuthentication Timer : [1800 |(in seconds)
Idle Timeout : IEET { in seconds)
Group Key Update Timer : W (in seconds)

Feset

' Get automatically from DHCP
 Use fixed IP address

IP Address IT 92.168.1.2
IP Subnet Mask |255.255.255 0
Gateway IP Address ID 0.0.0
s |

24




DEUTSCH

?

° Wenn die Wireless-Clients nicht mit dem Netzwerk kommunizieren
kénnen, stellen Sie sicher, dass die Clients und das NWA3550 dieselben
Sicherheitseinstellungen verwenden.

25



DEUTSCH

3.3 Konfigurieren der IP-Einstellungen

1 Wahlen Sie die IP-Adresse 1P
des NWA3550s so, dass sie im
selben Subnetz liegt wie das
Netzwerk. Klicken Sie in der © Get automatically from DHCP

. . .  Use fixed IP address
Navigationsleiste auf IP.

IP Address fioeiea1e |
Wenn Sie méchten, dass ein IP Subnet Mask [5zm52550
DHCP-Server des Netzwerks Gateway IP Address oo
dem NWA3550 eine IP-Adresse
zuweist, wahlen Sie Get
automatically from DHCP _Reset |
(Automatisch vom DHCP
beziehen).

Wenn Sie eine bestimmte IP-
Adresse haben, wahlen Sie die
Option Use fixed IP address
(Feste IP-Adresse verwenden)
und geben Sie sie zusammen
mit der Subnetz-Maske und der
Gateway-IP-Adresse ein.

Klicken Sie auf Apply
(Ubernehmen). Das NWA3550
verwendet nun die neuen IP-
Einstellungen. Es ist nicht mehr
mdglich, mit dem NWA3550
eine Verbindung mit der
Standard-IP-Adresse
herzustellen.

26



DEUTSCH

g Wenn Sie die IP-Adresse des NWA3550s andern, miissen Sie beim
nachsten Zugriff auf den Web-Konfigurator die neue IP-Adresse
verwenden. Wenn Sie Get automatically from DHCP (Automatisch vom
DHCP beziehen) wahlen, missen Sie beim DHCP-Server nachsehen,
welche IP-Adresse er dem NWA3550 zuweist. Weitere Informationen
dazu finden Sie in der Dokumentation des DHCP-Servers.

2 Wenn Sie bei Abschnitt 2.1 die IP-Adresse des Computers gedndert haben, werden
die ursprunglichen Einstellungen wiederhergestellt.

3 Andern Sie die Drahtlosparameter der Drahtlosstationen, damit diese mit denen des
NWA3550s Ubereinstimmen. Lesen Sie dazu die Dokumentation des
Drahtlosadapters.

Das NWA3550 kann jetzt eine Verbindung zu Ihrem Switch oder Router herstellen. Das
kénnen Sie bereits jetzt tun oder wenn Sie die Antennen angebracht und den NWA3550
installiert haben.

?

° Wenn das NWA3550 nicht mit dem Netzwerk kommunizieren kann, stellen
Sie sicher, dass das NWA3550 eine IP-Adresse verwendet, die sich im
selben Subnetz wie der Switch/Router befindet.

4 Installieren der Hardware

Fihren Sie die folgenden Schritte aus, um den NWA3550 an einem Mast oder an der
Wand zu installieren.

4.1 Aufstellen/Montieren der Hardware

Im Allgemeinen ist die Mitte des Bereichs, der fir die Drahtlosverbindungen vorgesehen
ist, die glinstigste Position fir den Access Point. Eine bessere Leistungsfahigkeit kann
erreicht werden, wenn Sie das NWA3550 in der H6he montieren und die

Datenuibertragung durch keine Hindernisse gestort wird.

4.1.1 Packungsinhalt

27



DEUTSCH

Sie bendtigen folgendes:

1 Eine Wand-/Masthalterung 7 Eine Mutter M8

2 Eine Gelenkhalterung 8 Vier Schrauben M5*12

3 Eine Mastbefestigungsschiene 9 Vier Unterlegscheiben M5

4 Drei Schrauben M8*110 10Vier Wandbefestigungsschrauben
5 Drei Unterlegscheiben M8 11Vier Dubel

6 Drei Federscheiben M8

4.1.2 Zusammensetzen der Montagehalterung

1 Befestigen Sie die Wand-/Masthalterung mit einer Schraube M8*110, einer
Unterlegscheibe M8, einer Federscheibe M8 und einer Mutter M8 an der
Gelenkhalterung.

4.1.3 Mastmontage

28



DEUTSCH

1 Richten Sie die Montagehalterung an den
Lochern auf der Riickseite des NWA3550
aus. Fuhren Sie vier Schrauben M5*12 in
die Locher ein, und ziehen Sie die
Schrauben und die Unterlegscheiben M5
mit einem Schraubenschliissel fest.

2 Setzen Sie die Montagehalterung an einen
Mast. Richten Sie die
Armbefestigungsschiene an den Lochern
der Wand-/Masthalterung aus. Fihren Sie
vier Schrauben M8*110 in die Locher ein,
und ziehen Sie die Schrauben und die
Unterlegscheiben M8 mit einem
Schraubenschlussel fest.

3 Richten Sie den NWA3550, die Kabel und Antennen
richtig aus.

—=

4.1.4 Wandmontage
1 Wahlen Sie eine Position an einer festen, glatten Wand.

2 Halten Sie die Wand-/Masthalterung an die vorgesehene Position, um die Position der
Schrauben zu markieren. Bohren Sie vier Schraublécher.

29



DEUTSCH

/@5 Achten Sie beim Bohren der Lécher darauf, keine in der Wand verlegten
Kabel oder Rohre zu beschadigen.

3 Fihren Sie die Dibel in die Lécher.

/@ Die mitgelieferten Schrauben und Diibel sind in erster Linie fir Betonwande
vorgesehen. Besteht die Wand aus anderem Material, miissen Sie u. U.
andere Schrauben und Dibel verwenden.

4 Richten Sie die Montagehalterung an den
Lochern an der Rickseite des NWA3550
aus. Fuhren Sie vier Schrauben M5*12 in [

die Locher ein, und ziehen Sie die ,’
Schrauben und die Unterlegscheiben M5 H ﬂ
mit einem Schraubenschlissel fest. 0 0 - ‘
0 o]
0 0

5 Schrauben Sie die vier Wandbefestigungsschrauben
durch die Locher der Wand-/Masthalterung in die ™
Bohrl6cher in der Wand. Stellen Sie sicher, dass die
Schrauben fest in der Wand befestigt sind.

30



DEUTSCH

6 Richten Sie den NWA3550, die Kabel und Antennen
richtig aus.

4.2 AnschlieBRen der Antennen

Schrauben Sie die Antennen im Uhrzeigersinn in die Antennenanschliisse unten am
NWA3550 ein.

Stellen Sie sicher, dass die Antennen fest in die Anschliisse eingeschraubt sind.

Im Benutzerhandbuch finden Sie eine Liste aller kompatiblen Antennen.

Schritte zum Ansehen von Produktzertifizierung(en)

1 Besuchen Sie www.zyxel.com.
2 Wahlen Sie auf der ZyXEL-Homepage aus der Liste der Produkte lhr Produkt aus.
3 Wahlen Sie auf dieser die Zertifizierung aus, die Sie gerne angezeigt haben mdchten.

31



ESPANOL

Vista previa

Esta Guia de instalacion rapida le muestra como instalar y configurar el NWA3550
(marcado como AP en el ejemplo de abajo) para permitir a los clientes inalambricos
acceder de forma segura a su red inalambrica. Vea su Guia del usuario para mas

informacion.
s - Ethernet > ~
7/ | N
/ AN
/ \

/ al \
/ T \
| - |
\ | AP |
\ —~ [ ] /

\ = /

N — > v
N / s
~ - = _ s
~ -

/@5 Puede que necesite su acceso a Internet para mas informacion.

Esta guia le muestra cémo:

1 Conectar el hardware.

2 Acceder al configurador Web.
3 Configurar el acceso a Internet.
4 |nstalar el Hardware.

32



ESPANOL

1 Conectar el hardware

A

MS-POE-IJ

1 Utilice un cable Ethernet para conectar el puerto Ethernet (frente al zécalo de
corriente) en el inyector de corriente MS-POE-IJ (A en la figura) al puerto Ethernet del
NWA3550.

2 Utilice un cable Ethernet para conectar el otro puerto Ethernet (junto al zécalo de
corriente) a un ordenador para la configuracion inicial.

3 Conecte el inyector de corriente a una toma de corriente apropiada utilizando el cable
de corriente incluido. El NWA3550 recibe su corriente desde el inyector utilizando PoE
(Power over Ethernet).

4 Tras haber completado la configuracion inicial, conecte el puerto Ethernet (junto al
z6calo de corriente) del inyector de corriente a una clavija Ethernet con acceso a red
(por ejemplo, un médem o router de banda ancha).

1.1 Luz del inyector de corriente

» EI LED (luz) del inyector de corriente se enciende en verde fijo cuando la corriente esta
conectada.

33



ESPANOL

° Si el LED no se enciende, compruebe sus conexiones y verifique si los
cables estan dafnados. Si el LED continua apagado, contacte con su
vendedor.

2 Acceder al Configurador Web

£§ Utilice Internet Explorer 6.0 o superior o Netscape Navigator 7.0 o una
version superior con JavaScript activado y el bloqueo de anuncios
desactivado.

2.1 Configurar la direccion IP de su ordenador

£§ Apunte la configuracion IP actual de su ordenador antes de cambiarla.

Primero, ajuste su ordenador para utilizar una direccion IP estatica dentro del rango
192.168.1.3 - 192.168.1.254 con una mascara de subred 255.255.255.0. Esto asegura
que su ordenador pueda comunicarse con su NWA3550. Consulte su Guia del usuario
para informacion sobre la configuracion de la direccién IP de su ordenador.

2.2 Acceda al Configurador Web

/@5 Aunque puede conectarse al NWA3550 de forma inalambrica, se
recomienda que conecte su ordenador al puerto Ethernet para la
configuracion inicial.

1 Abra su explorador de web. Escriba e B Teiw Eaviies ook D

192.168.1.1 (la direccion IP JEER
predeterminada del NWA3550) como  [LAddress | hitpsfitez.168.1.2

direccion.

34




ESPANOL

° Si no puede acceder al configurador Web, compruebe que las direcciones
IP y mascaras de subred del NWA3550 y del ordenador estén en el
mismo rango de direccion IP (ver Seccion 2.1).

2 Haga clic en Login (Acceso) (la
contrasefia predeterminada 1234 ya

esta introducida). NWA3550

Enter Password and click Login.

Password: [~

3 Cambie la contrasefia de acceso
introduciendo una nueva contrasefia

y haciendo clic en Apply (Aplicar). Use this screen to change the password.
Asegurese de grabar la nueva

contrasefia y guardarla en un lugar NavgRasaword: =
seguro. Retype to Confirm: |

?

° Si cambia la contrasefia y la olvida, necesitara reiniciar el NWA3550.
Contacte con su vendedor.

35



ESPANOL

4 Haga clic en Apply (Aplicar) para
cambiar el certificado
predeterminado de fabrica para
mayor seguridad; por otro lado, haga
clic en Ignore (Ignorar) para
proceder si no desea cambiar el
certificado en este momento.

5 Aparecera la pantalla STATUS. ZyXEL

STATUS
MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH, SERVER
CERTIFICATES
VLAN

MAINTENANCE

LogouT

to this device.

Replace Factory Default Certificate

The factory default certificate is common to all
NWA models. Click Apply to create a certificate
using your NWA's MAC address that will be specific

Ignaore

Automatic Refresh Interval [None |  Refresh

2/amp
2073248

3 Configure el NWA3550

3.1 Ajustar la configuracion del sistema

1 Haga clic en SYSTEM (SISTEMA) en el panel de navegacion.

ZyXEL

STATUS

MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

36




ESPANOL

2 Aparecera la pantalla SYSTEM > General.

SYSTEM

Password Time Setting

MNYWA-Series

General Setup

System DNS Servers

System Name (Nombre del sistema) es para identificar el NWA3550 en su red. Elija
un nombre identificativo o deje el predeterminado.

Domain Name (Nombre de dominio): Escriba un nombre de dominio si su ISP requiere
uno para la autenticacion. O bien puede dejarlo en blanco o ajustar lo que haya aparecido
automaticamente.

DNS Server(s) (Servidor(es) DNS): Si su ISP le ha facilitado una configuracion DNS
(Domain Name System) especifica, seleccione User-Defined (Definido por el usuario) y
escribala aqui.

3 Haga clic en Apply (Aplicar).

37



ESPANOL

3.2 Ajustar la configuracién inalambrica

1H aga clicen Wireless SSID Security RADIUS Layer2 Isolation  MAC Filter
WIRELESS WLAN Interface WLANT <
‘ Operating Mode Access Poit_ >
(|NALAMBR|CO) en el 802.11 Mode 802.116%g )
.z ¥ Super Mode
panel de navegacion. Chooss Channl 1D [Chamt06 2637z =]
- . H RTS/CTS Threshold EETE )
Apa recera la si guie nte Fragmentation Threshold [F505 (238 2240 (Fagmantation thesshod shll o
pantalla. Beacon Interval 100 coms « soooms)
DTIM 1 )
Output Power 0% v
SSID Profile SSD0 -
Rates Configuration
| Rate | Configuraion | Rae | Configuration |
1 Mbps Basic v 2 Mbps Basic  ~
5.5 Mbps [Basic =] 11 Mbps [Basic =]
6 Mbps [Optional =] 9 Mbps [Optional =]
12 Mbps [oOptional =] 18 Mbps [Optional =]
24 Mbps [Optional =] 36 Mbps [Optional =]
48 Mbps [optional x| 54 Mbps [Optional =]
¥ Enable Spanning Tree Protocal (STP)
I Enable Roaming
(STR and Roaming are commeon settings. The shanges are for both ULAN Interfaces.)
Reset

/@g Las estaciones inalambricas y el NWA3550 deben utilizar la misma
configuracién SSID, ID de canal y cifrado para la comunicacién
inalambrica.

WLAN Interface (Interfaz WLAN): Asegurese de que WLAN1 esté seleccionado.

Operating Mode (Modo de operacion): Asegurese de haber seleccionado el modo
Access Point (Punto de acceso).

802.11 Mode (Modo 802.11): Seleccione el estandar inalambrico que desee que utilice su
red. Si no esta seguro de qué seleccionar, seleccione 802.11b+g.

Choose Channel ID (Elegir ID de canal): Seleccione el canal inalambrico que desee que
su red utilice. Para que el NWA3550 seleccione automaticamente un canal, haga clic en
Scan (Escanear).

SSID Profile (Perfil SSID): Seleccione el perfil SSID que desee configurar para el acceso
alared en la lista desplegable. Este ejemplo utiliza el perfil SSID03.

2 Haga clic en Apply (Aplicar) para guardar su configuracion.

38



ESPANOL

3 Haga clic en la ficha
SSID. Aparecera la
siguiente pantalla.

Asegurese de que la
configuracion de SSID03
tenga sus valores
predeterminados.

El SSID (nombre de la
red) predeterminado es
ZyXELO03, su
configuracién de
Security (Seguridad)
predeterminada es
Security01. Layer 2
Isolation (Aislamiento
de capa 2) y MAC Filter
(Filtro MAC) estan
ajustados a Disable
(Desactivado) por
defecto.

Si desea cambiar la
configuracion del perfil
SSID, seleccione
SSID03 y haga clic en
Editar.

4 Haga clic en la ficha
Security (Seguridad).
Asegurese de que
Security01 esté
seleccionado y haga
clic en Edit (Editar).

ireless

ecurity

ayerZ lsolation

ilter

Ui o [[sw | weis | s | g -

I volp SSID | ZyXELO1 | securig01 | radiusd? VolP Disable

SSID03 ZyXELD3 | securityd! | radiusD1 NONE
Ol ssioos ZyNELOS | security0 | radius01 NONE Disable Disable
Ol ssio ZyNELOG | security0l | radius01 NONE Disable Disable
EIEN  ssioor ZyXELO7 | securiyy0 | radiusDi NONE Disable Disable
D ssioos | ZyXELOB | securid! | radiusdt NONE Disable  Disable
0 ssioos | ZyXELOS | securigd! | radiusdt NONE Disable Disable
BTN ssip10 | ZyXEL0 | securig! | radiusdl NONE Disable  Disable
BN sson ZyXELM | securityd! | radiusdt NONE Disable  Disable
OREE ssidiz | zyXEL1Z | securidl | radiusdl NONE Disable  Disable
EEN  sson ZyNEL13 | securityd | radiusd1 NONE Disable  Disable
Ol ssou ZyNEL14 | securityl | radius01 NONE Disable Disable
B ssiois ZyNEL1S | securiy0 | radius0i NONE Disable Disable
TN ssipts | ZyXEL16 | securid! | radiusdi NONE Disable  Disable

Wireless SSID Security RADIUS Layer-2 Isolation MAC Filter

Dl Mo Cormrertnr Mo

securi1 None

| securityD3 None

| security0d None

| securityDs None

| securityl6 None

| securityD? None

| security08 None

| securityD9 None

| securityl0 None

| securityl1 None

| securityl2 None

| securityld None

| securityld None

| securityld None

| securityl6 None




ESPANOL

5 Aqui es donde puede Wireless  SSID_ | Security | RADIUS  Layer2 Isolation WAC Filter
IntrOdUCIr la Name : security0
Configuraci(’)n de Security Mode : WRAZPSK =
. Pre-Shared Key : Thisismy\WPAZ-PSKPresharedkesy]
'Segl"‘rlda.d para su red ReAuthentication Timer : [1800 |(in seconds)
inalambrica. Los Idle Timeout : 3600 (1n seconds)
campos que rellene se Group Key Update Timer: 1800 {in seconds)

diferencian segun el
tipo de seguridad que
seleccione en el campo
Security Mode (Modo
de seguridad).
Seleccione None
(Ninguno) si no desea
utilizar la seguridad
inaldmbrica.

Feset

Este ejemplo utiliza
seguridad WPA2-PSK,
en la que todos los
clientes inalambricos
deben utilizar la misma
clave pre-compartida
para unirse a la red.

Asegurese de que todos
los clientes inalambricos
soporten el tipo de
seguridad ajustado.
Haga clic en Apply
(Aplicar) cuando haya
finalizado.

?

° Si los clientes inalambricos no pueden comunicarse con la red, asegurese

de que los clientes y el NWA3550 utilicen la misma configuracion de
seguridad inalambrica.

40



ESPANOL

Ajustar la configuracion IP

1 Necesita configurar la 1P
direccion IP de su NWA3550
para que estén en la misma
subred que su red. Haga clic “ Get automatically from DHCP

" Use fixed IP address
en IP en el panel de

© IP Address [fezteerz
navegacion. IP Subnet Mask [os5os52550
Seleccione Get automatically Gateway IP Address o000
from DHCP (Obtener
automaticamente de DHCP) si
desea que un servidor DHCP ﬂl
de su red asigne una direccion
IP al NWA3550.

Si tiene una direccién IP
especifica para usar, seleccione
Use fixed IP address (Utilizar
direccion IP fija) e introduzcala
junto con su mascara de subred
y puerta de enlace IP.

Haga clic en Apply (Aplicar). El
NWA3550 ahora utiliza la nueva
configuracion IP; no puede
conectarse mas al NWA3550
utilizando la direccion IP
predeterminada.

g Si cambia la direccion IP de su NWA3550, debera utilizar la nueva
direccion IP la préxima vez que acceda al configurador Web. Si
selecciona Get automatically from DHCP (Obtener automaticamente de
DHCP) compruebe que su servidor DHCP determina la direccién IP que
asigna al NWA3550. Consulte la documentacién de su servidor DHCP
para mas informacion.

2 Si ha cambiado la direccion IP de su ordenador en Seccion 2.1, devuélvale su
configuracion predeterminada.

3 Cambie la configuracion inalambrica en las estaciones inalambricas para que
coincida con la del NWA3550. Consulte la documentacién de su adaptador
inalambrico.

41



ESPANOL

ElI NWA3550 ya esté listo para conectarse a su switch o router. Puede hacerlo ahora o una
vez colocadas las antenas y montado el NWA3550.

? Si el NWA3550 no puede comunicarse con la red, compruebe que el
NWA3550 utiliza una direccién IP en la misma subred que el switch / router.

4 Instalar el Hardware
Complete los siguientes pasos para instalar el NWA3550 en un poste o en la pared.

4.1 Instalacion del montaje para hardware

En general, la mejor ubicacién para el punto de acceso es en el centro del area de
cobertura. Para un mejor rendimiento, monte el NWA3550 hacia arriba sin obstrucciones.

4.1.1 Lista del paquete

42



ESPANOL

Necesita lo siguiente:

1 Un soporte para poste o pared 7 Una tuerca M8

2 Un soporte articulado 8 Cuatro tornillos M5*12

3 Una barra de montaje en poste 9 Cuatro arandelas M5

4 Tres tornillos M8*110 10Cuatro tornillos de montaje en la pared
5 Tres arandelas M8 11Cuatro conectores de obra

6 Tres arandelas con muelle M8

4.1.2 Montar el soporte de montaje

1 Utilice un tornillo M8*110, una arandela M8, una arandela con muelle M8 y una tuerca
M8 para colocar el soporte de pared o poste en el soporte articulado.

4.1.3 Montaje en poste

43



ESPANOL

1 Alinee el soporte de montaje con los
agujeros de la parte trasera del
NWA3550. Inserte cuatro tornillos M5*12
en los agujeros y utilice una llave para
apretar los tornillos con las arandelas M5.

2 Coloque el soporte de montaje alrededor
de un poste. Alinee la barra de montaje del
poste con los agujeros del soporte para
pared o poste. Inserte dos tornillos M8*110
en los agujeros y utilice una llave para
apretar los tornillos con las arandelas M8 y
las arandelas con muelle M8.

3 Ajuste el NWA3550, los cables y las antenas para una
correcta orientacion.

4.1.4 Montaje en pared
1 Seleccione una posicion sin obstaculos en una pared dura.

2 Coloque el soporte para pared o poste en la pared para marcar la posicion de los
tornillos. Perfore cuatro agujeros para los conectores de obra.

44



ESPANOL

/@5 Procure evitar dafar los tubos o cables situados en el interior de la pared al
perforar los agujeros para los tornillos.

3 Inserte los conectores de obra en la pared.

/@ Los tornillos incluidos y los conectores de obra son para el uso con ciertas
paredes. Puede que necesite utilizar otros tornillos y conectores,
dependiendo del material de la pared.

4 Alinee el soporte de montaje con los "~
agujeros de la parte trasera del
NWAS3550. Inserte cuatro tornillos M5*12 %
en los agujeros y utilice una llave para ,’
apretar los tornillos con las arandelas M5. H ﬂ

o
[e]

5 Instale los cuatro tornillos de montaje en la pared a
través de los agujeros del soporte para pared o poste —
en los conectores para fijar el soporte de montaje en la
pared. Asegurese de que los tornillos estén
perfectamente apretados y seguros en la pared.

45



ESPANOL

6 Ajuste el NWA3550, los cables y las antenas para una .
correcta orientacion. A\ N\

4.2 Conectar las antenas

Atornille las antenas en sentido horario en los conectores de antena de la parte inferior de
su NWA3550.

Asegurese de que las antenas estén bien atornilladas en los conectores para
antena.

Consulte la Guia del usuario para la lista de antenas compatibles.

Procedimiento para ver la(s) certificacion(es) del
producto

1 Vaya a www.zyxel.com.

2 Seleccione su producto de la lista desplegable en la pagina inicial de ZyXEL para ir a la
pagina de ese producto.

3 Seleccione la certificacion que desee visualizar en esta pagina.

46



ESPANOL

47



FRANGCAIS

Présentation

Ce guide de mise en route rapide indique comment installer et configurer le NWA3550
(marqué d'un AP dans I'exemple ci-dessous) pour permettre aux clients sans fil d’accéder
en toute sécurité a votre réseau cablé. Consultez votre Guide de I'utilisateur pour plus
d'informations.

,@ Vous aurez peut-étre besoin de vos informations d'accés a Internet.

Ce guide vous indique comment :

1 Connecter le matériel.

2 Accédez au configurateur Web.
3 Configurer I'accés a Internet.

4 Installer le matériel.

48



FRANCAIS

1 Connecter le matériel

A

MS-POE-IJ

1 Utilisez un cable Ethernet pour connecter le port Ethernet (face a la prise
d'alimentation) sur I'injecteur d'alimentation MS-POE-1J inclus (A dans la figure) au port
Ethernet du NWA3550.

2 Utilisez un cable Ethernet pour connecter I'autre port Ethernet (a c6té de la prise
d'alimentation) a un ordinateur pour la configuration initiale.

3 Connectez l'injecteur d'alimentation a une source d'alimentation adéquate a I'aide du
cordon d'alimentation inclus. Le NWA3550 recoit son alimentation de l'injecteur
d'alimentation en utilisant PoE (Power over Ethernet).

4 Aprés avoir effectué la configuration initiale, connectez le port Ethernet (a c6té de la
prise d'alimentation) de l'injecteur d'alimentation a une prise Ethernet avec accés
réseau (par exemple, un modem ou un routeur large bande).

1.1 Voyant d'injecteur d'alimentation

» La LED (voyant) sur l'injecteur d'alimentation s'illumine en vert fixe quand I'alimentation est
connectée.

49



FRANCAIS

?

° Sila LED ne s'allume pas, vérifiez vos connexions et vérifiez si vos cables
ne sont pas endommageés. Si la LED est toujours éteinte, contactez votre
vendeur.

2 Accéder au configurateur Web.

£§ Utilisez Internet Explorer 6.0 et plus récent ou Netscape Navigator 7.0 et
des versions plus récentes avec JavaScript activé et le bloqueur de
fenétres publicitaires intempestives désactivé.

2.1 Paramétrez I'adresse IP de votre ordinateur

g Notez les paramétres IP actuels de votre ordinateur avant de les modifier.

Paramétrez d'abord votre ordinateur pour qu'il utilise une adresse IP statique dans la plage
192.168.1.3 a 192.168.1.254 avec un masque de sous-réseau de 255.255.255.0. Cela
permet d'assurer que votre ordinateur peut communiquer avec votre NWA3550. Consultez
votre guide de l'utilisateur pour les informations sur le paramétrage de 'adresse IP de
votre ordinateur.

2.2 Ouvrez une session dans le configurateur Web

/@5 Méme si vous pouvez vous connecter au NWA3550 sans fil, il est
recommandé de connecter votre ordinateur au port Ethernet pour la
configuration initiale.

1 Lancez votre navigateur web. Entrez
192.168.1.2 (I'adresse IP par défaut

| File Edit ‘Wwiew Fawvorites Tools  Help
du NWA3550) comme adresse. | Address | hutp:jj152.168.1.2 B

50



FRANCAIS

? Si vous ne pouvez pas accéder au Configurateur Web, vérifiez que les
adresses IP et les masques de sous-réseau du NWA3550 et de
I'ordinateur sont dans la méme plage d’adresse IP (voir la Section 2.1).

2 Cliquez sur Login (Ouvrir une
session) (le mot de passe par défaut

1234 est déja entré). NWA3550

Enter Password and click Login.

Password: [~

3 Changez le mot de passe
d'ouverture de session en entrant un

nouveau mot de passe et cliquez sur Use this screen to change the password.
Apply (Appliquer). Prenez soin
d'enregistrer le nouveau mot de HexRassuands =

passe et f:onservez—le dans un Baiunesin Sanfine: [
endroit sar. D—

? Si vous changez le mot de passe et que vous l'oubliez, vous devrez
réinitialiser le NWA3550. Contactez votre vendeur.

51



FRANCAIS

4 Cliquez sur Apply (Appliquer) pour
remplacer le certificat d'usine par
défaut pour renforcer la sécurité ;
vous pouvez aussi cliquer sur Ignore
(Ignorer) pour continuer si vous ne
voulez pas changer le certificat
maintenant.

5 L'écran STATUS (ETAT) apparait. ZyXEL

STATUS
MGNT MODE

SYSTEM
WIRELESS
P

ROGUE AP
REMOTE MGNT
AUTH, SERVER
CERTIFICATES
VLAN

MAINTENANCE

LogouT

to this device.

Replace Factory Default Certificate

The factory default certificate is common to all
NWA models. Click Apply to create a certificate
using your NWA's MAC address that will be specific

Ignaore

Automatic Refresh Interval [None |  Refresh

2/amp
2073248

3 Configurer le NWA3550

3.1 Configurer les parameétres du systéeme

1 Cliquez sur System (SYSTEME) dans le panneau de navigation.

ZyXEL

STATUS

MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

52




FRANCAIS

2 L'écran System (SYSTEME) >General (Général) apparait.

SYSTEM

Password Time Setting

MNYWA-Series

General Setup

System DNS Servers

System Name (Nom du systeme) sert a identifier le NWA3550 sur votre réseau.
Choisissez un nom distinctif, ou laissez celui-ci a sa valeur par défaut.

Domain Name (Nom de domaine): Entrez un nom de domaine si votre FAl en demande
un pour authentification. Autrement vous pouvez le laisser vide ou sur ce qui pourrait étre
affiché automatiquement.

DNS Server(s) (Serveur(s) DNS): Si votre FAI vous a attribué des paramétres DNS
(Domain Name System) spécifiques, sélectionnez User-Defined (Personnalisé) et
entrez-les ici.

3 Cliquez sur Apply (Appliquer).

53



FRANCAIS

3.2 Configurer les paramétres sans fil

1 Cliquez sur
WIRELESS (SANS
FIL) dans le panneau
de navigation. L'écran
suivant apparait.

Wireless SSID

WLAN Interface
Operating Mode
802.11 Mode

' Super Mode
Choose Channel ID
RTS/CTS Threshold

Fragmentation Threshold

Security

RADIUS

Layer-2 Isolation MAC Filter

WLANT ~
Access Point >
60211b+y

Channel- 06 2437MHz ¥
2346 (256 ~ 2348)

2345 o0 2248 Cragmentation threshold shal be an even number)
0

Beacon Interval 10! Gams = 1000ms)

DTIM 1 a1 - 1oy

Output Power 100% -

SSID Profile S5D03

Rates Configuration

| Configuration | Rate [ Configuration |

1 Mbps Basic x. 2 Mbps Basic v
5.5 Mhps [Basic | 11 Mbps [Basic  ~|
6 Mbps [ Optional =] 9 Mbps [ Optional -]
12 Mbps [Optional =] 18 Mbps [optional v
24 Mbps [Optional =] 36 Mbps [Cptional -]
48 Mbps [ Optional =] 54 Mbps [optional 7]

¥ Enable Spanning Tree Protocal {STP)

I Enable Roaming

(STP and Reaming are commen settings. The changes are for both VULAN Interfaces )

Apply Resat

/@g Les stations sans fil et le NWA3550 doivent utiliser le méme SSID, ID de
canal et paramétres de cryptage pour la communication sans fil.

WLAN Interface (Interface WLAN): Vérifiez que WLAN1 est sélectionné.
Operating Mode (Mode de fonctionnement): Vérifiez que Access Point (le mode Point

d'acceés) est sélectionné.

Mode 802.11: Sélectionnez le standard sans fil a utiliser par votre réseau. Si vous ne
savez pas lequel choisir, sélectionnez 802.11b+g.

Choose Channel ID (Choisissez I'ID du canal): Sélectionnez le canal sans fil a utiliser
par votre réseau. Pour que le NWA3550 sélectionne automatiquement un canal, cliquez

sur Scan (Balayer).

SSID Profile (Profil SSID): Sélectionnez le profil SSID que vous voulez configurer pour
I'accés au réseau dans la liste déroulante. Cet exemple utilise le profil SSID03.

2 Cliquez sur Apply (Appliquer) pour enregistrer vos paramétres.

54



FRANCAIS

3 Cliquez sur l'onglet
SSID. L’écran suivant
apparait.

Le SSID03 (le nom du
réseau) par défaut le
SSIDO03 est ZyXELO03 et
son paramétre de
Security (Sécurité) par
défaut est Security01
(Security01).

Si les paramétres sont
différent, ou si vous
voulez changer le SSID,
sélectionnez SSID03 et
cliquez sur Edit (Editer)
pour changer les
parametres.

4 Cliquez sur I'onglet
Security (Sécurité).
Vérifiez que Security01
est sélectionné et
cliquez sur Edit
(Editer).

Treless

ecurity

ayerZ solation

ilter

e

0 voip SSID | ZyXELO1 | securi01 | radius0l | VolP | Disable |

SSIDO3 | ZyXELO3 | securit01 | radiusOt NONE
Y. securs radiu: Uisable  Disable
s 5 SIS ZyXELOS | securiy01 | radius0l NONE Disable  Disahle
Ol ssioe ZyXELOG | securiy01 | radius0l NONE Disable  Disahle
EEN  ssioor ZyXELO7 | securiy01 | radiusdl NONE Disable Disahle
IO ssiD0s | ZyXELOB | securi01 | radiusdt HONE Disable Disable
0 ssi0s | ZyXELO9 | securin01 | radiusdl NONE Disable  Disable
TN ssipi0 | ZXELID | securi01 | radiusdl NONE Disable  Disable
ENIE  ssipn | ZXELM | securi01 | radiusdl NONE Disable  Disable
DREE ssicz | zyXEL1Z | securig0l | radiusdl NONE Disable  Disable
EEEN  ssios ZyXEL13 | securiy0l | radius0l NONE Disable  Disable
Ol ssou ZyXEL14 | securiy01 | radius0l NONE Disable  Disahle
EEE  ssiois ZyXEL15 | securiy01 | radiusdl NONE Disable Disahle
CNEN  ssip16 | ZyXEL16 | securi01 | radiusdt HONE Disable Disable

‘Edni’
Wireless SSID Security RADIUS Layer-2 Isolation MAC Filter
T

securityl1 None

security3 None

securityld Hone

securityls None

securityl6 Hone

securityl? None

security0s Hone

security9 None

security10 Hone

securityll None

security12 Hone

securityld None

security1d Hone

securityls None

security16 Hone

55



FRANCAIS

5 C'est I'endroit ou vous Wireless  SSID | Security | RADIUS  LayerZ Isolation MAC Filler

pouvez enter les Nams : T
parameétres de sécurité Security Mode ; WRAZFEK =

. Pre Shared Key : ThisismyAwPA2-PSKPresharedkey|
POUF votre réseau sans ReAuthentication Timer : 1800 | in seconds)
fil. Les champs que ldle Timeout : [3600 " (in seconds)
VvOus avez remp“s Group Key Update Timer : 1800 (in seconds)

différent en fonction
des types de sécurité
que vous sélectionnez
dans le champ Security
Mode (Mode Sécurité).
Sélectionnez None
(Aucun) si vous ne
voulez pas utiliser la
sécurité sans fil.

Feset

Cet exemple utilise la
sécurité WPA2-PSK,
dans lequel tous les
clients sans fil doivent
utiliser la méme clé
prépartagée pour
accéder au réseau.
Vérifiez que tous les
clients sans fil prennent
en charge le type de
sécurité que vous avez
choisi. Cliquez sur
Apply (Appliquer) quand
vous avez terminé.

?

° Si les clients sans fil ne peuvent pas communiquer avec le réseau, vérifiez

que les clients et le NWA3550 utilisent les mémes paramétres de sécurité
sans fil.

56



FRANCAIS

3.3 Configurer les paramétres IP

1 Vous devez paramétrer IP
I'adresse IP de votre
NWA3550 afin qu'elle se

trouve dans le méme masque " Get automatically from DHCP

. " Use fizxed IP address
de sous-réseau que votre IP Address W
réseau. Cliquez sur IP dans le IP Subnet Mask [255 255 255 0
panneau de navigation. Gateway IP Address [onon

Sélectionnez Get

automatically from DHCP

(Obtenir automatiquement a _Reset |

partir de DHCP) si vous voulez
qu'un serveur DHCP sur votre
réseau attribue une adresse IP
au NWA3550.

Si vous avez une adresse IP
spécifique a utiliser,
sélectionnez Use fixed IP
address (Utiliser une adresse
IP fixe) et entrez-la avec le
masque de sous-réseau et
'adresse IP de passerelle.

Cliquez sur Apply (Appliquer).
Le NWA3550 utilise maintenant
les nouveaux paramétres d'IP;
vous ne pouvez plus vous
connecter au NWA3550 en
utilisant I'adresse IP par défaut.

57



FRANCAIS

g Si vous changez I'adresse IP du NWA3550, vous devrez utiliser la
nouvelle adresse IP la prochaine fois que vous accéderez au
configurateur web. Si vous sélectionnez Get automatically from DHCP
(Obtenir automatiquement a partir de DHCP), consultez votre serveur
DHCP pour déterminer I'adresse IP qu'il a attribuée au NWA3550.
Consultez la documentation de votre serveur DHCP pour plus
d'informations.

2 Si vous avez modifié I'adresse IP de votre ordinateur dans la Section 2.1, rétablissez-
la a sa valeur précédente.

3 Changez les paramétres sans fil dans les stations sans fil pour qu’ils correspondent a
ceux du NWA3550. Consultez la documentation de votre adaptateur sans fil.

Le NWA3550 est maintenant prét a se connecter a votre commutateur ou routeur. Vous
pouvez le faire dés maintenant, ou une fois que vous aurez installé les antennes et monté
le NWA3550.

?

° Si le NWA3550 ne peut pas communiquer avec le réseau, vérifiez que le
NWA3550 utilise une adresse IP se trouvant sur le méme sous-réseau que
le commutateur / routeur.

4 Installer le matériel
Effectuez les procédures suivantes pour installer le NWA3550 sur un mat ou un mur.

4.1 Montage du matériel

En général, le meilleur emplacement pour le point d’accés est au centre de votre zone de
couverture sans fil. Pour obtenir de meilleures performances, montez le NWA3550 sur un
point élevé et sans obstructions.

4.1.1 Liste d'emballage

58



FRANCAIS

Vous avez besoin des éléments suivants :

1 Un support mural/de mat 7 Un écrou M8

2 Un support d'articulation 8 Quatre vis M5*12

3 Une barre de montage de mat 9 Quatre rondelles M5

4 Trois vis M8*110 10Quatre vis de montage mural

5 Trois rondelles M8 11Quatre chevilles de magonnerie

6 Trois rondelles frein M8

4.1.2 Assemblage du support de fixation

1 Utilisez une vis M8%110, une rondelle M8, une rondelle frein M8 et un écrou M8 pour
fixer le support mural /de mat au support d'articulation.

4.1.3 Fixation sur mat

59



FRANCAIS

1 Alignez le support de fixation avec les

=
trous situés au dos du NWA3550. Insérez .

quatre vis M5*12 dans les trous et a l'aide o0

d'une clé serrez les vis avec les rondelles (IR

M5.

2 Placez le support de fixation autour d'un
mat. Alignez la barre de fixation du mat
avec les trous situés sur le mur/ support de
mat. Insérez deux vis M8*110 dans les
trous et a I'aide d'une clé serrez les vis
avec les rondelles M8 et les rondelles frein
M8.

Omme)® X Trmmdp
J).‘ [~

3 Orientez correctement le NWA3550, les cables et les
antennes.

4.1.4 Fixation murale
1 Sélectionnez une position sans obstruction sur un mur robuste.

2 Placez le support mural/ de mat sur le mur pour marquer I'écartement entre les vis.
Percez quatre trous pour les chevilles de magonnerie.

60



FRANCAIS

/@5 Faites attention a ne pas endommager les tuyaux ou les fils encastrés dans
le mur lorsque vous percez les trous pour les vis.

3 Insérez les chevilles de magonnerie dans le mur.

/@ Les vis et les chevilles de magonnerie incluses sont destinées
principalement a une utilisation dans les murs en béton. Vous devrez peut-
étre utiliser des vis et des chevilles différentes, selon le matériau de votre
mur.

4 Alignez le support de fixation avec les "~
trous situés au dos du NWA3550. Insérez
quatre vis M5*12 dans les trous et a I'aide [
d'une clé serrez les vis avec les rondelles ,’
M5, LI

o
[e]

5 Installez quatre vis de fixation murale dans les trous
sur le support mural/ de mat dans les chevilles pour —
fixer les supports de fixation au mur. Vérifiez que les
vis sont fixées étroitement et de fagon sécurisée au
mur.

61



FRANCAIS

6 Orientez correctement le NWA3550, les cables et les
antennes.

4.2 Connecter les antennes

Vissez les antennes dans le sens horaire sur les connecteurs d'antenne situés au bas de
votre NWA3550.

Vérifiez que les antennes sont correctement vissées sur les connecteurs d’antenne.

Consultez votre guide de I'utilisateur pour la liste d'antennes compatibles.

Procédure pour afficher la (les) certification(s) d'un
produit
1 Allez a www.zyxel.com.

2 Sélectionnez votre produit sur la liste du menu déroulant de la page d'accueil de ZyXEL
pour accéder a la page de ce produit.

3 Sélectionnez la certification que vous désirez consulter dans cette page.

62



FRANCAIS

63



ITALIANO

Cenni generali

La presente guida introduttiva fornisce informazioni sull'impostazione e la configurazione
di NWA3550 (contrassegnato AP nell'esempio sotto) per consentire ai clienti wireless di
accedere in modo sicuro alla rete cablata. Consultare la propria Guida utente per ulteriori
informazioni.

P - Ethernet ~
s | AN
/ N
/ \
/ | \
/ T \
l - |
\ I AP I
\ ~— /‘ /
\ : /
N — 7 7
N [ ’
> ~ ~ - -
~ -

,@ E possibile che occorra reperire le informazioni sul proprio accesso a
Internet.

In questa guida viene spiegato come:

1 Collegare I'hardware.

2 Accedere allo strumento di configurazione Web.
3 Configurare I'accesso a Internet.

4 Installare I'hardware.

64



ITALIANO

1 Collegamento dell'hardware

A

MS-POE-IJ

1 Utilizzare un cavo Ethernet per collegare la porta Ethernet (opposta alla presa di
alimentazione) sull'iniettore di alimentazione MS-POE-1J incluso (A nella figura) alla
porta Ethernet del'NWA3550.

2 Utilizzare un cavo Ethernet per collegare I'altra porta Ethernet (accanto alla presa di
alimentazione) a un computer per la configurazione iniziale.

3 Collegare l'iniettore di alimentazione a una sorgente di alimentazione appropriata
utilizzando il cavo di alimentazione fornito a corredo. L'NWA3550 riceve la sua energia
dall'iniettore di alimentazione utilizzando PoE (Power over Ethernet).

4 Una volta completata la configurazione iniziale, collegare la porta Ethernet (accanto
alla presa di alimentazione) dell'iniettore di alimentazione a un jack Ethernet con
accesso alla rete (ad esempio un router o un modem broadband)

1.1 Indicatore luminoso dell'iniettore di alimentazione

+ Il LED (indicatore luminoso) che si trova sull'iniettore di alimentazione si accende di colore
verde fisso quando €& collegata un'alimentazione.

65



ITALIANO

?

° Se il LED non si accende, controllare i collegamenti e verificare I'eventuale
presenza di danni sui cavi. Se il LED & ancora spento, rivolgersi al
venditore.

2 Accedere allo strumento di configurazione Web

£§ Utilizzare Internet Explorer 6.0 o versione successiva oppure Netscape
Navigator 7.0 o versione successiva con JavaScript abilitato e bloccaggio
dei pop-up disabilitato.

2.1 Impostare l'indirizzo IP del computer

g Annotare le impostazioni IP correnti del computer prima di cambiarle.

Configurare dapprima il computer a utilizzare un indirizzo |IP statico nell'intervallo
192.168.1.3 - 192.168.1.254 con una subnet mask uguale a 255.255.255.0. In questo
modo si garantisce che il computer possa comunicare con NWA3550. Vedere la Guida
dell'utente per informazioni sulla configurazione delle impostazioni IP del computer.

2.2 Eseguire il login nello strumento di configurazione Web

£§ sebbene sia possibile eseguire il collegamento a NWA3550 in modalita
wireless, si consiglia di collegare il computer alla porta Ethernet per la
configurazione iniziale.

1 Avviare il browser. Immettere
192.168.1.2 (I'indirizzo IP predefinito | -
di NWA3550) nella barra |Address | hitpijj192.168.1.2 [
dell'indirizzo.

| File Edit ‘Wwiew Fawvorites Tools  Help

66



ITALIANO

?

° Se non é possibile accedere allo strumento di configurazione Web,
verificare che gli indirizzi IP e le subnet mask di NWA3550 e del computer
siano nel medesimo intervallo di indirizzi IP (vedere Sezione 2.1).

2 Fare clic su Login (Login) (la
password predefinita 1234 & gia

immessa). NWA3550

Enter Password and click Login.

Password: [~

3 Cambiare la password di accesso
immettendo una nuova password e
facendo clic su Apply (applica). Use this screen to change the password.

Registrare la nuova password e
conservarla in un luogo sicuro. HexRassuands =

Retype to Confirm: |

?

° Se la password viene cambiata e la si dimentica, sara necessario
resettare NWA3550. Rivolgersi al venditore.

67



ITALIANO

4 Fare clic su Apply (applica) per
sostituire il certificato predefinito di
fabbrica per una maggiore
sicurezza. In alternativa fare clic su
Ignore (ignora) per procedere se
non si desidera cambiare ora il
certificato.

5 Viene visualizzata la schermata ZyXEL
STATUS (stato).

MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH, SERVER
CERTIFICATES
VLAN

MAINTENANCE

LogouT

to this device.

Replace Factory Default Certificate

The factory default certificate is common to all
NWA models. Click Apply to create a certificate
using your NWA's MAC address that will be specific

Ignaore

Automatic Refresh Interval [None |  Refresh

2/amp
2073248

3 Configurare NWA3550

3.1 Configura le impostazioni del sistema

1 Fare clic su SYSTEM (SISTEMA) nel pannello di navigazione.

ZyXEL

STATUS

MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

68




ITALIANO

2 Appare la schermata SYSTEM (SISTEMA) > Genera (Generale).

SYSTEM

Password Time Setting

MNYWA-Series

General Setup

System DNS Servers

System Name (nome sistema) consente di identificare NWA3550 sulla rete. Scegliere
un nome distintivo o lasciare quello predefinito.

Domain Name (Nome dominio): immettere un nome di dominio se il proprio ISP ne
richiede uno per l'autenticazione. In caso contrario € possibile lasciare il campo vuoto o
lasciare I'impostazione predefinita.

DNS Server(s) (Server DNS): se I'ISP fornisce impostazioni DNS (Domain Name
System) specifiche, scegliere User-Defined (definite dall'utente) ed immettere qui tali
impostazioni.

3 Fare clic su Apply (Applica).

69



ITALIANO

Configura impostazioni Wireless

1 Fare clic su WIRELESS

Wireless SSID Security RADIUS Layer2 Isolation  MAC Filter
(W'RELESS) nel WLAN Interface WLANT =
. Operating Mode Access Point >
pannello di 802.11 Made 80211b+y -
. . . I Super Mode
navigazione. Appa|0n0 Chouss Channel ID Channel-06 2437MHz =
; RTS/CTS Threshold 305 | asn 20y
le schermate seguenti.
Beacon Interval 100 @0 - 000ms)
DTIM 1 )
Output Power 00% -
SSID Profile SSID03 x
Rates Configuration
[ Configuraton | Rae | Configuration |
1 Mbps Basic - 2 Mbps Basic
5.5 Mbps [Basic =] 11 Mbps [Basic =]
6 Mbps [optioral v 9 Mbps [optional =]
12 Mbps | Optional =] 18 Mbps [Optional =]
24 Mbps [optional ] 36 Mbps [optional =]
48 Mbps [Optional =] 54 Mbps [Optional =]
I Enable Spanning Tree Pratocal (STP)
I Enable Roaming
(ST and Roaming are commen setings. The changes are fo bth WLAN Iterfaces.)
Reset

g Le stazioni wireless e NWA3550 devono utilizzare lo stesso SSID, ID di
canale e impostazione di crittografia per consentire la comunicazione
wireless.

WLAN Interface (Interfaccia WLAN): Assicurarsi che sia selezionato WLAN1.

Operating Mode (Modalita operative): verificare che sia selezionata la modalita Access
Point.

802.11 Mode (modalita 802.11): selezionare lo standard wireless da utilizzare per la rete.
Se non si é certi di cosa scegliere, selezionare 802.11b+g.

Choose Channel ID (Scegli ID canale): scegliere il canale wireless che si desidera
utilizzare per la rete. Per consentire a NWA3550 si selezionare automaticamente un
canale, fare clic su Scan (Cerca).

SSID Profile (Profilo SSID): selezionare dall'elenco a discesa il profilo SSID che si
desidera configurare per l'accesso alla rete. In questo esempio & utilizzato il profilo
SSID03.

2 Fare clic su Apply (Applica) per salvare le impostazioni.

70



ITALIANO

3 Se|ezi0nare |a Scheda Wireless | SSID Security  RADIUS  Layer2 Isolation MAC Filter
SSID. Appaiono le

schermate seguenti. lﬂ-

. IR volP_SSID | ZyXELD1 | securidl | radiusdl volP Disable
Verificare che le i i
. P SSID03 | ZyXELO3 1 diusd1 NONE
impostazioni per SSID03 . e o
siano ai rispettivi valori Bl ssioos ZyXELD5 | securiyl | radiusdl NONE Disable  Disable
. RGN ssioo6 | zyXEL6 | securityd! | radiusdt NONE Disable  Disable
predeflmtl. (o] 7 ET ZyXELO7 | securitydl | radiusd1 NONE Disable Disable
. Bl sso, ZyXELOB | securitydl | radius0l NONE Disable Disable
I SSID (il nome della I ssions | zyXELes | securiydl | radiusdi NONE Disable |Disable
rete) predefinito & FINTN  ssiDi0 | ZyXELI0 | securiydl | radiusdt NONE Disable  Disable
. L. EINTN  ssib1 | ZyXELM | securiydl | radiusdt NONE Disable  Disable
ZyXEL03, | impostazioni EIEEN ssion2 ZyXEL12 | securityl | radiusdl NONE Disable Disable
: ; FINEN ssi13 | ZyXEL13 | securiydl | radiusdl NONE Disable  Disable
Secu”ty (SICUFEZZE) FIRTN  ssip14 | zyXELM | securitdl | radiusdt NONE Disable  Disable
predefinita e B ssiois ZyXEL15 | securiydl | radiusdl NONE Disable | Disable
EE ssioe ZyXEL16 | securiy0l | radiusdl NONE Disable Disable

Security01. Layer 2
Isolation (isolamento

Livello 2) e MAC Filter =)

(filtro MAC) sono
impostati su Disable
(disabilitato) per
impostazione
predefinita.

Per cambiare le
impostazioni del profilo
SSID, scegliere SSID03
e fare clic su Edit
(modifica)

4 Fare C|iC SU”a SCheda Wireless SSID Security | RADIUS  Layer-? Isolation MAC Filter

Security (Sicurezza).

Verificare che sia prv S

s'eIeZ|onat.a I securityl3 None

I'impostazione } security None

. . security05 None

Security01 e fare clic \ securitls None

: i | securit7 None

su Edit (Modifica). ‘ i hone

I securityl9 None

| security0 None

I security11 None

| security2 None

I security13 None

| securityl4 None

I security1s None

| securityl6 None




ITALIANO

5 In questo campo & Wireless  SSID Security | RADIUS  LayerZ lsolation MAC Filter
possibile immettere le Hama : eyt ]
impostazioni di Security Mode : WPAZ-PSK

. Pre-Shared Key : Thisismy\WPA2-PSKPresharedkey|
S|f:urezza della rgte ReAuthentication Timer : 1800 ¢ In seconds)
wireless. | campi 1dle Timeaut : [3600  {in ssconds)
Compilati Variano a Group Key Update Timer : 1800 |{in seconds)

seconda del tipo di
sicurezza selezionata
nel campo Security
Mode (Modalita di
sicurezza). Selezionare
None (Nessuno) se
non si desidera utilizzare
la sicurezza wireless.

Reset

Questo esempio utilizza
la sicurezza WPA2-PSK,
nella quale tutti i clienti
wireless devono
utilizzare la stessa
chiave pre-shared per
unirsi alla rete.

Verificare che tuttii client
wireless supportino il
tipo di sicurezza
impostata. Fare clic su
Apply (Applica) una
volta terminato.

? Se i client wireless non possono comunicare con la rete, verificare che i
client e NWA3550 utilizzino le stesse impostazioni di sicurezza wireless.

72



ITALIANO

3.2 Configura impostazioni IP

1 E necessario impostare P
l'indirizzo IP di NWA3550 per
essere nella stessa subnet

della rete. Fare clic su IP nel S URuibLIsR

. . . " Use fixed IP address
pannello di navigazione. o [eziesie
Selezionare Get automatically IP Subnet Mask [255 255 255.0
from DHCP (ottieni Gateway IP Address [onon

automaticamente da DHCP) per

consentire a un server DHCP

presente in rete di assegnare un _Reset |

indirizzo IP a NWA3550.

Se si dispone di un indirizzo IP
specifico da utilizzare,
selezionare Use fixed IP
address (utilizza indirizzo IP
fisso) e specificarlo unitamente
al subnet mask e all’indirizzo IP
gateway.

Fare clic su Apply (applica)
NWAS3550 ora utilizza le nuove
impostazioni IP. Non sara piu
possibile connettersi a
NWAS3550 utilizzando l'indirizzo
IP predefinito.

g Se si cambia l'indirizzo IP di NWA3550, & necessario utilizzare il nuovo
indirizzo IP quando si desidera accedere allo strumento di configurazione
Web. Selezionando Get automatically from DHCP (ottieni
automaticamente da DHCP), controllare il server DHCP per determinare
l'indirizzo IP assegnato a NWA3550. Per ulteriori informazioni vedere la
documentazione del server DHCP.

2 Se si cambia l'indirizzo IP del computer in Sezione 2.1, tornare alla sua impostazione
precedente.

3 Modificare i parametri wireless nelle stazioni wireless per farle corrispondere a quelle
di NWA3550. Fare riferimento alla documentazione dell’adattatore wireless.

NWA3550 ¢ ora pronto a connettersi allo switch o al router. Questa operazione puo essere
eseguita subito, dopo aver collegato le antenne e montato NWA3550.

73



ITALIANO

?

° Se NWA3550 non pud comunicare con la rete, verificare che NWA3550 stia
utilizzando un indirizzo IP sulla stessa subnet dello switch / router.

4 Installazione dell’hardware

Completare le procedure seguenti per installare 'NWA3550 su un supporto o a parete.
4.1 Montaggio dell’hardware

In generale, la posizione migliore per il punto di accesso € al centro dell’area di copertura
wireless. Per prestazioni ottimali, montare il dispositivo NWA3550 in posizione
soprelevata, senza ostacoli. Per prestazioni ottimali, montare il dispositivo NWA3550 in
posizione soprelevata, senza ostacoli.

4.1.1 Contenuto della confezione

E necessario disporre dei seguenti componenti:

74



ITALIANO

1 Una staffa per parete/supporto 7 Un dado M8

2 Una staffa di articolazione 8 Quattro viti M5*12

3 Una barra di montaggio per 9 Quattro rondelle M5
supporto

10Quattro viti per il montaggio a parete

4 Tre viti M8*110 11Quattro tasselli per muratura

5 Tre rondelle M8
6 Tre rondelle elastiche M8

4.1.2 Assemblaggio della staffa di montaggio

1 Utilizzare una vite M8*110, una rondella M8, una rondella elastica M8 e un dato M8 per
attaccare la staffa da parete/supporto alla staffa di articolazione.

4.1.3 Montaggio su supporto
1 Allineare la staffa di montaggio con i fori

T\
che si trovano dietro I'NWA3550. Inserire S
quattro viti M5*12 nei fori e utilizzare una o0
chiave per serrare le viti con le rondelle \\ N > {
M5. RS ”
TR |
Y
[0} ol «
0 0
|/

75



ITALIANO

2 Collocare la staffa di montaggio attorno al =~
supporto. Allineare la barra di montaggio
su supporto con i fori che si trovano sulla
staffa per parete/supporto. Inserire due viti
M8*110 nei fori e utilizzare una chiave per
serrare le viti con le rondelle M8 e le
rondelle elastiche M8.

3 Regolare 'NWA3550, i cavi e le antenne per il corretto
orientamento.

4.1.4 Montaggio a parete
1 Individuare una posizione in cui non vi siano ostacoli su una parete solida.

2 Posizionare la staffa da parete/supporto sulla parete per segnalare i punti in cui
andranno inserite le viti. Praticare con il trapano i quattro fori per i tasselli da muratura.

/gg Fare attenzione a non danneggiare tubazioni o cavi che si trovano nel muro
quando si eseguono i fori per le viti con il trapano.

3 Inserire i tasselli nei fori della parete.

/@5 Le viti fornite a corredo e i tasselli per muratura sono pensati
principalmente per 'uso in pareti di cemento. A seconda del materiale della
parete pud essere opportuno utilizzare viti e tasselli diversi.

76



ITALIANO

4 Allineare la staffa di montaggio con i fori =
che si trovano dietro 'NWA3550. Inserire
quattro viti M5*12 nei fori e utilizzare una

chiave per serrare le viti con le rondelle ,’
M5, [II1{

o
[e]

5 Installare le quattro viti di montaggio a parete
attraverso i fori sulla staffa per parete/supporto nei —
tasselli per fissare la staffa di montaggio sulla parete.
Verificare che le viti siano fissate alla parete in modo <+
solido e sicuro.

6 Regolare I'NWA3550, i cavi e le antenne per il corretto N
orientamento.

4.2 Collegamento delle antenne

Avvitare le antenne in senso orario sugli appositi connettori sotto 'NWA3550. Assicurarsi
che le antenne siano accuratamente serrate sulle apposite prese.

Vedere la Guida dell'utente per I'elenco delle antenne compatibili.

77



ITALIANO

Procedura per visualizzare le certificazioni di un
prodotto

1 Aprire la pagina www.zyxel.com.

2 Selezionare il prodotto dall'elenco di riepilogo a discesa nella Home Page di ZyXEL per
passare alla pagina del prodotto in questione.

3 Selezionare da questa pagina la certificazione che si desidera visualizzare.

78



ITALIANO

79



PYCCKUI

O6G30p

B kpaTkom pykoBOACTBe nonb3oBaTtens OyaeT pacckasaHo, kak MoAKMYMTb U HaCTPouTb
NWA3550 (nomeueHHbin AP B NnpvBeaeHHOM HUxe npumepe) ans 6esonacHoro goctyna
6ecnpoBOAHbIX KNMMEHTOB K NpOBoAHOM ceTn. OBpaTnTech K MOMHOW BEpCUM PYKOBOACTBA A1
nony4yeHus JONONMHMTENbHON nHdopMauuu.

o O ~

S

-]
_

P - Ethernet ~
s | N
/ AN
/ \

/ | \
/ T \
| - ]
\ ,' AP I
\ ~7 ] /

\ ~— /

\ — 7 s
N /
N o = _ 7
~ - — -

,@ Bam moxeT noHagobuTtbes Bawwa nHdopMauus ans goctyna K cetm
MHTepHeT.

B aTom pykoBogcTtee Oyget onncaHo, Kak:

1 MoakntounTb 060pyaoBaHMe
2 Bontu B BeG-kOHUrypaTop
3 HactpowuTtb poctyn k cetn IHTepHeT
4 YctaHoBuTb o6opynoBaHue.

80



PYCCKUI

1 MopknovyeHue o6opyaoBaHUSA

A

MS-POE-IJ

1 MNpwu nomown kabens Ethernet nogkntounte nopt Ethernet (HanpoTtue, BBoAa nNuTaHuns)
Ha noctaBnsemom ceteBomM agantepe MS-POE-IJ (0603Ha4yeH A Ha pUCyHKe) Kk NOpTy
Ethernet NWA3550.

2 Y106bI NONYyYnTb BO3MOXHOCTL KOHOUIYpUpoBaTh YCTPOMCTBO NOAKMOYUTE OPYron
Ethernet-nopTt (psigom ¢ pasbeMoM NuTaHWs) K KOMMbIOTEPY, NCNOMNb3Yst COOTBETCTBYIOLLNIA
kabenb.

3 lMopgknovnTte ceTeBON aganTep K ANeKTPOCETM NPU NOMOLLM BXOAALWErO K KOMNNEKT
nocTaeku WHypa nutaHus. Yctponcteo NWA3550 6ynet nonyyatb nutaHue ot
ceTeBoro aganrtepa no texHonorun PoE (MutaHue 4yepes Ethernet).

4 TMo okOH4YaHUK KOHUrypmpoBaHus ycTporctea n3atem nogcoeanHuTe nopt Ethernet
(BO3Me ceTeBON pO3eTKMN) cCeTeBOro agantepa k pasbemy Ethernet, koTopbii nmeeT
AOCTyn K ceTn (Hanpumep, K LUMPOKOMOMOCHOMY MOAEMY UMW MapLupyTusaTopy).

1.1 UHaukaTop ceTteBOro aganrtepa

« Cetoguon (MHavKaTop) Ha ceTeBOM aganTtepe OyaeT NOCTOSAHHO ropeTh 3eneHbIM CBETOM
npu NOAKMOYEHUN MUTaHUS.

81



PYCCKUI

° Ecnu cBeTogmopn He 3aropaeTcsi, NpoBepbTe HAAEXHOCTb NOOKMIOYEHUN U
cocTosiHMe WHypa. Ecnn nHamkaTop Bce ele He roput, obpaTtuTech B
cnyx06y TexHuyeckon nogaepxkn ZyXEL.

2 loctyn K Be6-KOHdUrypaTopy

,@f Wcnonb3ynte Internet Explorer Bepcun 6.0 n Bbiwe unu Netscape
Navigator Bepcun 7.0 1 BbILe ¢ akTUBMpPOBaHHbIM JavaScript n
OTKMNIOYEHHOW BrTIOKMPOBKON BCMIbIBAIOLLMX OKOH.

2.1 YctaHoBKa IP-agpeca Bawlero kKomnbrTepa

g 3anuwmnTe TekyLwme HacTponkm IP Bawwero komnbloTepa nepeg mx
N3MeHeHnemM.

BHavane yctaHoBMTE Ha BalleM KOMMbOTEPE UCNONb3oBaHue ctatnyeckoro IP-agpeca B
npegenax ananasoHa 192.168.1.3 - 192.168.1.254 ¢ mackon nogcetn 255.255.255.0. 1o
rapaHTUpyerT, 4YTO Ball KoMNboTep cMoXeT coeanHAaTeca ¢ NWA3550. NHdopmaums o
HacTpovike |IP-agpeca Ballero komneoTEPA NpMBEAEHA B NOMHON BEPCUN PYKOBOACTBA
nonb3oBaTens.

2.2 flocTyn K Be6-KOHpUurypaTopy

/@5 Haxe ecnu Bbl MoxeTe noakntounte NWA3550 no 6ecnpoBogHom ceTw,
ONs HaYanbHOW HACTPONKM PEKOMEHOYETCSA NOAKMOYMTL Ball KOMMbIOTEP K
nopty Ethernet.

1 3anycTtute Baw Beb-6paysep.
BeeanTte 192.168.1.2 (IP-agpec -
NWA3550 1o ymondanmio) B ctpoke  |LASdess | hitpi/f102.168.1.2 [
appeca.

| File Edit ‘Wwiew Fawvorites Tools  Help

82



PYCCKUI

° Ecnu Bbl He MOXxeTe BonTK B Beb-KoHdUrypaTop, nposepste IP-agpec un
macky nogcetn NWA3550 n komnbtotepa. OHM AOMKHbI HAXOAUTLCS B
OOHOW NoAaceTw (CM. MyHKT 2.1).

2 UlenkHuTe Ha kHonke Login (Bxoga)
(naponb no ymon4yanutio - 1234 - yxe

BBE/EH). NWA3550

Enter Password and click Login.

Password: [~

3 MameHunTe napornb BXofa B CUCTEMY,
BBeAS HOBbIN, U HaXmuTe Ha Apply
(MpuMeHuTh). 3anuwInMTe HOBbIN Use this screen to change the password.
naposb 1 XpaHWUTe ero B HaaeXHOM

mecre. New Password: E—
Retype to Confirm:

?

° Ecnu Bbl n1ameHunu naponb, a Notom ero 3abbinun, To BaMm npugetcs
nepeyctaHoBnTb NWA3550. Obpatntech B criyxby TexXHU4Yeckon
nopaepxkn ZyXEL.

83



PYCCKUI

4 UlenkHuTe Ha Apply (MpumeHuTs),
4TO6bl N3MEHUTL 3aBOACKYIO
yCTaHOBKy cepTudukarta ans
ynyyweHusa 6esonacHocTu. Ecnu Bl
He XOTUTe U3MeHATb cepTudmkar
cenvac, wenkHute Ha lgnore

(MponycTtuTs).
5 MosiButcs okHo STATUS ZyXEL
(CocTtosiHue).

MGNT MODE

SYSTEM
WIRELESS
P

ROGUE AP
REMOTE MGNT
AUTH, SERVER
CERTIFICATES

VLAN

MAINTENANCE

LogouT

to this device.

Replace Factory Default Certificate

The factory default certificate is common to all
NWA models. Click Apply to create a certificate
using your NWA's MAC address that will be specific

Ignaore

Automatic Refresh Interval [None |  Refresh

2/amp
2073248

3 KoHdurypuposanHmne NWA3550

3.1 HacTponka cMcTeMHbIX napameTpoB

1 WenkHnte Ha SYSTEM (CUCTEMA) Ha naHenun Hasurauuu.

ZyXEL

STATUS

MGNT MODE

SYSTEM
WIRELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

84




PYCCKUI

2 lMosiButcea okHo SYSTEM (CUCTEMA) > General (O6wue).

General Password Time Setting

System Name |NWA—Series

Domain Name |

Administrator Inactivity Timer ISD (minutes, 0 means no timeout)

System DNS Servers

First DNS Server INone 'l ID.D.D.D

Second DNS Server INone 'l ID.D.D.D

Third DNS Server INone 'l ID.D.D.D
Apply Reset |

System Name (CuctemHoe nms) ucnonbayetca ansa naeHtndpukaumm NWA3550 B Bawwen
ceTn. BBegnTte Heobxogmmoe ums yCTPOMCTBa UK OCTaBbTE NPearoXXeHHoe no

yMOn4aHuto.

Domain Name (Vims gomeHa): BeeguTe vMs JoMeHa, ecnv Bal npoBangep Tpedyer
3TOro Ansi ayteHTudmkaummn. Ecnu ato nmsa gomeHa He TpebyeTcsl, MOXHO OCTaBUTb 3TO

none nycTbiM UK C NPeANOoXeHHbIM MO YMOYaHUI0 3Ha4YEeHNEM.
DNS Server(s) (DNS cepsep(bl)): Ecnin Baww npoBavaep npeaocTaBun Bam

onpegeneHHyto HacTponky DNS (Cuctema gomeHHbIX umeH), Boibepute User-Defined

(OnpepensieTca nonb3oBaTenem) U BBeANTE NpeaoCcTaBreHHoe 3HavYeHue.
3 Haxmute Apply (MpymeHnTs).




Py

CCKUI

3.2 Hactpouka napameTpoB 6ecnpoBOAHOMN CEeTn

1 LLl,eJ'I KHUTE Ha Wireless SSID Security RADIUS Layer2 Isolation  MAC Filter
WIRELESS WLAN Interface WLANT ~
Operating Mode Access Point >
(BECHPOBOHHAH) Ha 802.11 Mode 602 11b+y )
¥ Super Mode
naHenn Hasurauumn. Choose Channel ID Channel06 2437MHz v
RTS/CTS Threshold 2345 s wasany
MosBuTCA cnegyouee S ——— [ -
OKHO. Beacen Interval 100 (@0ms = 1000ms)
DTIM [ -m
Output Power 0% v
SSID Profile 55003~
Rates Configuration
| Configuraton [ Rate [ Configuraion |
1 Mbps Basic . 2 Mbps Basic .
5.5 Mbps [Basic  ~| 11 Mhps [Basic =]
& Mbps [Optional ] 9 Mbps [Optional =]
12 Mbps [optional v 18 Mbps [optional =]
24 Mbps |Optional ~| 36 Mbps [Optional =]
48 Mbps [optional ] 54 Mbps [optional =]
I Enable Spanning Tree Protocol (STP)
I Enable Roaming
(STP and Raaming ars cammen setings. Tha changes 3 forbth WILAN Iterfase2.)
Reset

/@g [ns ycnewHoro coeguHeHus 6ecnpoBogHas ctaHuus u NWA3550
DOSMKHbI UMETb oauHakoBble SSID, ngeHTMdUKaTOp KaHana u HacTPOMKK
WwncposaHus.

WLAN Interface (Bbibop paguouHTepdeiica): Ybeautecs, 4to BoiopaH WLAN1
(papuounHTepdelic 1) Beibop pagvonHTepdeiica.

Operating Mode (Pexum pabothbl): Y6egutech, 4to BbibpaH pexum Access Point
(Toyka gocrtyna).

802.11 Mode (Pexvm 802.11): Beibepute ctaHgapt 6ecnpoBogHON CETU, KOTOPbIN Bbl
XOTUTE UCnomnb30BaTh B Ballewn ceTn. Ecnu Bbl He yBepeHbl B Bbibope, ycTaHOBUTE
802.11b+g.

Choose Channel ID (Bbibepute ngeHtndmkatop kaHana): Beilbepute 6ecnposogHom
KaHan, KoTopbli Bbl XOTUTE MCMOMNb30BaTh ANs co3faHusa ceTu. [inga Toro, 4Tobbl
NWAS3550 BbiGupana kaHan aBToMaTU4ecku, LENKHUTE Ha KHonke Scan
(CkaHupoBaHue).

SSID Profile (Mpodune SSID): Beibepute npoduns SSID, koHdUrypaumto KOToporo Bbl
XOTWUTE YCTaHOBUTb, U3 BbiNafatoLLero cnucka. B atom npumepe ncnonb3yetcs npounb
SSID03.

2 Haxmute Apply (MpumeHnTb), 4TOOLI COXPaHUTL HACTPOWKM.

86



PYCCKUI

3 LLleJ'IKHI/ITe Ha BKnagke Treless ecurity ayerZ lsolation ier

SSID. MosiBuTCS
solation Filter

crnegytouiee oKHo.
I volp SSID | ZyXELD1 | securityd! | radiusdt volP Disable  Disable

Ybeautech, 4To

o (FF1REN | ssinoa ZyXELO3 | securityl | radius01 NONE Disable
HacTpovikn SSID03 o
yCTaHOBMEHbI B S$SID05 ZyXELOS | securiy0l | radiusdl NONE Disable Disable

SSID0G ZyXELUG | securiy0l | radiusdl NONE Disable Disable

3Ha4YeHund no SSID07 ZyXELD7 | securiydl | radiusDi NONE Disable |Disable

SSID08 ZYNELO8 | securiyl | radius0l NONE Disable Disable

yMO4aHuto. SSID0Y ZyXELD9 | securi®l | radiusdl NONE Disable Disable

SSID10 YXELT0 | securiy®l | radiusdl NONE Disable Disable

B kauectse SSID no SSID11 ZyXEL1 | securi®l | radiusdl NONE Disable Disable

yMOn4yaHuio (MMH ceTm) $SID12 ZyXEL1Z | securiy0l | radiusdl NONE Disable  Disable

SSID13 ZyXEL13 | securiydl | radiusdl NONE Disable Disable

yCTaHOBIIEHO ZyXEL03- SSID14 ZyXEL14 | securi0l | radiusdl NONE Disable Disable

Ero HaCTpoﬁKoﬁ 55ID15 ZyXEL15 securityl1 radius01 NONE Disable Disable

) SSID16 YNELIE | securiyl | radius0l NONE Disable Disable
Security

(BesonacHocTb) No
YMOM4YaHuIo ABMSIETCS
Security01. Mo

YMOM4aHWIo NapameTpbl

Layer 2 Isolation

(BriokmpoBka 2 ypoBHS)

n MAC Filter (dunetp

MAC-agpeca)

YCTaHOBMEHbI B

coctosiHne Disable

(OTkntoyeHsl).

Ecnu Bbl xoTuTE
N3MEHUTb HAaCTPONKN
npodmnsa SSID,
Bblbepute SSID03 n
LLIeNKHUTE Ha KHOMKe
Edit (M3meHnTsb).

87



PYCCKWIA

4 Ll_leJ'IKHVITe Ha BKnagke Wireless RADIUS  Layerz2 Isolation MAC Filter
Security
(BesonacHocTb).
Y6enutecs, 4To
BblOpaHa Security01, n
wenkHute Ha Edit
(PepaktmpoBatb).

88



PYCCKUI

5 3aecb Bbl MOXeETE
BBECTM HACTPONKK
Ge3onacHOCTM Ballen
GecnpoBoaHOM ceTu.
BHocumble Bamu
M3MEHEHNS B
HaCTPOWKM OOJDKHbI
COOTBETCTBOBATb TUNY
6e3onacHocTy,
BblOpaHHOMY B none
Security Mode (Pexum
6esonacHocTy).
Beibepute None (Hert),
€CInn Bbl HE XOTUTe
ncnonb3oBaTb
6ecnpoBoaHyto
0e30MnacHOCTb.

B aTtom npumepe

ncnonb3dyetTcd ctaHaapT

6e3onacHocTn WPA2-
PSK, B koTOpOM BCe
6ecnpoBoaHbIe
KITUEeHTbI AN
NoAKNIYEHUN K ceTu
[JOJMKHbI UCMONb30BaTh
npeaBapuUTenbLHO
3aaHHbIN KoY.

Y6egunTecsb, 4TO BCE
BaLun GecnpoBofHble
KIMEHTBI
nogaepXxmBatoT
BblOpaHHbLIA BaMu TUN
6esonacHocTU.
LWenkHute Apply
(MpvmeHnTL) MO
OKOHYaHWMN BHECEHUS
N3MEHEHUIA.

Wireless SSID Security RADIUS Layer-2 Isolation MAC Filter

Name :
Security Mode :
Pre-Shared Key :

ReAuthentication Timer :

security01

[wWPAZ-PEK =]
Thisismy\WPA2-PSKPresharedkey|
hﬁT ( in seconds)

|35T ( in seconds)

W ( in seconds)

ldle Timeout :

Group Key Update Timer :

Reset

89




PYCCKUI

?

° Ecnun 6eCI'IpOBO,D,HbIe KINMNEeHTbl He MOTyT COeAUNHUTBCA C CETbIO,

ybeanTeck, 4TO OHU ucnonb3yoT oauHakoBble ¢ NWA3550 HacTporiku
GecnpoBogHON 6Ge30MacHOCTML.

3.3 KoHdurypupoBaHue HacTpoek IP

1 Bbl 4OMXHbI YCTAHOBUTL Ha 1P
Bawem NWA3550 IP-agpec ¢
MacKou NoaceTn Ballen ceTu.

LLLeJ'IKHI/ITe Ha IP Ha ' Get automatically from DHCP

" Use fixed IP address

HaBUrauMoOHHOW NaHersnu. 1P Address W
Bbibepute Get automatically IP Subnet Mask [e55.255 2550
from DHCP ([Monyyatb Gateway IP Address |

aBTomatunyeckm ot DHCP),

€ecnu Bbl XoTuTe, 4YTobbI IP-

agpec ans sawero NWA3550 _Reset |
npepoctasnan DHCP-cepsep
Ballewn ceTu.

Ecnu Bbl XOTUTE UCNONb30BaTh
onpeaenexHbin [P, BoibepuTte
Use fixed IP address
(Mcnonb3oBsatb
dukcmpoBaHHbIn IP-agpec) n
BBEAMTE ero BMECTe C Mackomn
nogcetu n IP-agpecom wnto3sa.

Haxwmute Apply (MpumeHnTb).
Tenepb Baw NWA3550
MCMONb3yeT HOBbIE HACTPOWKN
IP; Bbl He MoXeTe GornblLue
noakntodatbes kK NWA3550,
mcnone3ysa |IP-agpec no
YMOMYaHMIo.

90



PYCCKUI

g Ecnu Bbl nsmenxsiete IP-agpec NWA3550, To crnegyeTt ncnonb3oBaTb
WMEHHO ero A58 AansHerwero KoHpurypmposaHus yctponctea. Ecnu Bbl
BbiOMpaeTe Get automatically from DHCP ([Nony4aTtb aBTOMatu4ecku ot
DHCP), npoBepbre HasHavyeHne DHCP-cepsepom IP-agpeca gnsi
NWA3550. [JononHutenbHble CBeAEHWSI NPUBEAEHDbI B JOKYMEHTALMMN K
cepeepy DHCP.

2 Ecnu Bbl nameHunu IP-agpec Bawero kKomnblotepa B NYHKT 2.1, BEpHUTE ero K
npegbiayLien HacTponke.
3 ViameHuTe HacTpoWikm 6ecnpoBOAHbIX CTAHLUMIA Tak, YTOObI OHWM coBnaganu ¢

HacTpovikamm NWA3550. O6paTtutech Kk JOKyMeHTauuy aAng Bawero 6ecnpoBogHoro
aganTtepa.

Baw NWA3550 Tenepb rotoB K MOAKMOYEHUIO K MOAEMY UMK MapLupyTusaTopy. Bel moxeTe
caenaTtb 3TO NPSIMO ceryac Unu nocne yCTaHoBKM aHTeHH U MoHTaxa NWA3550.

?

° Ecnn NWA3550 He MOXXET NOAKMUYMTLCSA K CETU, NPOBEPLTE
ncnonb3oBaHne NWA3550 IP-agpeca ¢ Tou )Xe MacKkom NoAceTH, YTO Ny
MogeMa / MmapLipyTusaropa.

4 YctaHOBKa o6opyaoBaHus

Onsa yctaHoBkn NWA3550 Ha CTONKY UM CTEHY BbINONHUTE cnegylolime onepaunu.
4.1 MoHTax ob6opyaoBaHuA

TNyuywwe Bcero yctaHaBnmMBaTh TOYKY AOCTYNa B LEHTPE 30HbI, B KOTOPOW HeoBXoAMMO
obecneunTb NOKpbITUE GecnpoBOAHON ceTW. [N AOCTMKEHUS HAauNyYLue

npounssoantensHoctTn yctaHoBute NWA3550 noebiwe, B CBOOOAHOM OT BO3MOXHbLIX MOMEX
mecTe.

4.1.1 Coaepxumoe ynakoBKu

91



PYCCKUI

B komnnekt noctaBkn NWA-3550 BxogsaT:

1 OauvH KpoHLWTEWNH Ans cTeHbl/cTonkn 7 OgHa ranka M8

2 OavH NOBOPOTHbIN KPOHLLTENH 8 Yetblpe BnHTAa M5*12

3 OpgHa kpenexHas perika ans ctovkn 9 Yetbipe wanbel M5

4 Tpu BuHTa M8*110 10YeTbIpe BUHTa ANS Kpenexa K CTeHe
5 Tpu wanbsl M8 11YeTbIpe arobens

6 Tpw npyXuHHble WwWanbsl M8

4.1.2 CoopKa KpenexHOro KpoHwTenHa

1 NpucoeguHNTE KPOHLWITEWH ANA Kpenexa Ha CTeHY/CTOMKY K MOBOPOTHOMY KPOHLUTENHY
npy nomowm BuHTa M8*110, wanbsl M8, npyxuHHOW wanbsl M8 1 rankm M8.

4.1.3 KpenneHue K cTonke

92



PYCCKUI

1 CoBMecCTUTE KpPeneXHbI KPOHLLTENH C
OTBEPCTMAMU Ha 3aHeln naHenu .
NWAS3550. BcTtaBbTe 4YeThipe BUHTA
M5*12 B 0TBEPCTUSA N 3aTAHUTE UX
Krno4yom BmecTe ¢ wanbamm M5.

2 PasmecTuTe KpenexHbli KpOHLTENH Ha
ctornke. COBMECTUTE KPENEeXHYI0 periky
CTONKN C OTBEPCTUAMU B KPOHLUTENHE ANd
CTeHbl/CTOVKN. BcTaBbTe YeTbipe BUHTA
M8*110 B oTBEpPCTMS U 3aTSAHUTE UX
KIN4YoM BMecTe ¢ warbamm M8 n
NPY>XUHHbIMK Wanbamm M8.

J munmm-@)

3 Hactpownte NWA3550, npaBunbHo pa3amectute kabenu un
aHTEHHbI.

4.1.4 KpenneHue Ha cTeHe
1 Bbibepute cBO60AHOE MECTO Ha MPOYHON CTEHE.

2 MNpunoXnTe KpenexHblA KPOHLWTEWNH A5t CTEHbI/CTONKN K CTeHe, YTOObl OTMETUTb
nonoxexus wypynos. lNMpocBepnuTte YeTbipe 0TBEpCTUA ANs Alobenen.

93



PYCCKUI

/@5 ByaobTe BHUMAaTENbHbI: HE NoBpeauTe kabenu n TpyGbl BHYTPU CTEHbI NpU
NpoCBepMBaHNN OTBEPCTUIA.

3 BcTaBbTe aobens B oTBEpPCTUS.

/@ BxogsiLime B KOMMIIEKT NOCTaBKM A0Gens 1 Wypynbl NpeaHasHayveHbl As
MCMonb30BaHKs! B GETOHHBIX CTeHax. B 3aBUcMMOCTY OT MaTepuarna BaLler
CTEHbl BAM MOTYT NOHaZo0WUTLCS Apyrue Wypynbl v Arobens.

4 CoBMECTUTE KPEMEXHbIN KPOHLUTENH C

4 )
OTBEPCTMAMU Ha 3aHel naHenu
NWA3550. BctaBbTe YeThbipe BUHTA [
M5*12 B 0TBEPCTUSA N 3aTAHUTE UX ,’
KIno4yom BMecTe ¢ wanbamm M5. H ﬂ

e : |

0 o]

0 0

Ay
— )

5 BcTaBbTe Wypynbl U 3aKpenuTe KPOHLWTENH Ans CTeHbl/
CTOVKW. Y6EeaunTech, YTO BUHTbLI NIIOTHO BOLUJIM B CTEHY. —

94



PYCCKUI

6 Hactpoiite NWA3550, npaBunbHO pasmecTtuTe kabenu
W aHTEHHBI.

4.2 NMNopknoyeHne aHTeHH

BkpyTuTe aHTEHHbI NPOTUB YaCOBOW CTPENKU B aHTEHHbIe pa3beMbl Ha HWXKHEWN naHenm
NWA3550. Y6equtech, YTO OHU NPUKPYYEHbI HAOEXHO.

Cnuncok COBMECTUMbIX aHTEHH MOXXHO HaMTU B pyKkOoBOACTBE Nnonb3oBaTend.

Mpoueaypa npocmoTpa ceptucpukata(ceptncpukaTon)
npoAaykKTa
1 Mocetnte cant www.zyxel.ru.

2 BbibepuTe Ball NpoayKT M3 BbiNagalLero cnucka Ha gomallHen ctpaHuue ZyXEL u
nepenauTe Ha ero ctpaHuuy.

3 BbibepuTe Ha 3TOW CTpaHuMLEe HY>XHbI BaM cepTudumkar.

95



SVENSKA

Oversikt

Denna snabbstartguide visar hur du installerar och konfigurerar NWA3550 (markt AP i
exemplet nedan) sa att tradlésa klienter kan fa atkomst till ditt kabelnatverk pa ett sakert
satt. Se bruksanvisningen for mer information.

B g s
-t |

Ethernet ~
7 | AN
7/ AN
/ \

/ | \
/ T \
| L |
\ [ AP I
\ ~7 ] /

\ : /
\ — ~
N / /
> ~ —7 ~ -

/@5 Eventuellt behéver ha tillgang till uppgifterna fér din Internet uppkoppling.

Nar du ska installera ditt tradlésa natverk maste du:

1 Ansluta maskinvara.

2 Fa atkomst till webbkonfigurator.
3 Konfigurera Internet-atkomst.

4 |nstallera maskinvara.

96



SVENSKA

1 Ansluta maskinvara

A

MS-POE-IJ

1 Anvander en Ethernet-sladd for att ansluta Ethernet-porten (mittemot stromuttaget) pa
den medféljande MS-POE-IJ-strominjektorn (A i figuren) till NWA3550:s Ethernet-port.

2 Anvander en Ethernet-sladd for att ansluta den andra Ethernet-porten (bredvid
stromuttaget) till en dator for initial konfiguration.

3 Anslut strominjektorn till en Iamplig stromkalla med den medféljande stromsladden.
NWA3550 far sin strém fran stréminjektorn med PoE (Power over Ethernet).

4 Nar du har slutfort den initiala konfigurationen, anslut Ethernet-porten (bredvid
stromuttaget) pa strominjektorn till ett Ethernet-uttag med natverksatkomst (t.ex. ett
bredbandsmodem eller en router).

1.1 Strominjektorlampa

+ Indikatorlampan pa strominjektorn lyser med ett fast gront sken nar strémmen ar ansluten.

? Om indikatorlampan inte ténds, kontrollera dina anslutningar och se efter
att sladdarna inte ar skadade. Om lampan anda inte tédnds, kontakta din
aterforsaljare.

97



SVENSKA

2 Fa atkomst till webbkonfigurator

g Anvand Internet Explorer version 6.0 och senare eller Netscape Navigator
version 7.0 och senare med JavaScript aktiverat och popup-blockering
inaktiverad.

2.1 Stalla in datorns IP-adress

/@ Skriv ner datorns befintliga IP-installningar innan du &ndrar dem.

Forst maste du stalla in datorn att anvanda en statisk IP-adress i intervallet 192.168.1.3 -
192.168.1.254 och satt subnetmask pa 255.255.255.0. Detta sakerstaller att din dator kan
kommunicera med NWA3550. Se din bruksanvisning for information om hur du stéller in
datorns IP-adress.

2.2 Logga in i webbkonfigurator

g Aven om du kan ansluta NWA3550 tradlost, rekommenderas du att ansluta
din dator till Ethernet-porten for inledande konfiguration.

1 Starta din webblasare. Ange
192.168.1.2 (NWA3550s standard-
IP-adress) som adress.

?

° Om du inte lyckas fa atkomst till webbkonfiguratorn, kontrollera att IP-
adresser och subnetmask for NWA3550 och datorn finns i samma IP-
adressintervall (se avsnitt 2.1).

| File Edt Wew Favorites Tools Help

| address | hetp:ir92.168.1.2 |

98



SVENSKA

2 Klicka pa Login (standardlésenordet
1234 &r redan angivet).

NWA3550

Enter Password and click Login.

Password:

3 Andra inloggningslésenordet genom
att ange ett nytt I6senord och klicka
pa Apply (verkstall). Var noga med Use this screen to change the password.

att anteckna det nya I6senordet och
A o n . .
att férvara det pa ett sakert stalle. N Raaaead =
Retype to Confirm: |

?

° Om du andrar I6senordet och sedan glommer bort det, maste du
aterstalla NWA3550. Kontakta din aterforsaljare.

4 Klicka pa Apply (verkstall) for att
byta ut fabrikens standardcertifikat
for okad sakerhet; alternativt kan du Replace Factory Default Certificate

klicka pa Ignore (Ignorera) for att The factory default certificate is common to all

fortsatta om du inte vill andra NWA models. Click Apply to create a certificate
ra using your NWA's MAC address that will be specific
certifikatet nu. .

99



SVENSKA

5 Skarmen STATUS visas. ZyXEL

STATUS

MGNT MODE

Automatic Refresh Interval [None | Refresh

SYSTEM
WIRELESS
P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
VLAN

MAINTENANCE

LoGoUT

3 Konfigurera NWA3550

3.1 Konfigurera systeminstallningar

1 Klicka pa SYSTEM i navigationspanelen.

ZyXEL

STATUS

MGNT MODE

SYSTEM
WWIHELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

100




SVENSKA

2 Skarmbilden SYSTEM > General (system - allmant) visas.

SYSTEM

Password Time Setting

NYWA-Series

General Setup

System DNS Servers

System Name (systemnamn) identifierar NWA3550 i ditt natverk. Valj ett
beskrivande namn, eller lat standardnamnet sta kvar.

Domain Name (domannamn): Ange ett domannamn om din Internet-leverantor (ISP)
fordrar ett sddant for autentisering. | annat fall kan du lata detta vara tomt eller stalla in det
pa det som kan ha visats automatiskt.

DNS Server(s) (DNS-server(servrar): Om din ISP gett dig specifika DNS-installningar
(doma@nnamnsystem), valj User-Defined (anvandardefinierad) och ange dem har.

3 Klicka pa Apply (verkstall).

101



SVENSKA

3.2 Konfigurera tradlésa installningar

. °
1 Kllcka pa WIRELESS Wireless SSID Security RADIUS Layer-2 Isolation MAC Filter
o 1n .
(trad|os) | WLAN Interface WLANT >
. . Operating Mode Access Point >
navigationspanelen. 8021 Wode I
e . . ¥ Super Mode
Féljande skarm visas. Choose Chanel I [Crammeto 203701z =]
RTS/CTS Threshold 2315 lasnzse
Fragmentation Threshold 2345 (256 ~ 2348) (Fragmentation threshold shall be an even number)
Beacon Interval 100 Goms - 1000ms)
DTIM 1 ¢ - 100
Output Power 100% v
SSID Profile S5D03
Rates Configuration
| Rate [ Configuration | Rate | Configuration |
1 Mbps Basic ¥ 2 Mbps Basic ¥
5.5 Mhps [Basic | 11 Mbps [Basic  ~|
6 Mbps [ Optional =] 9 Mbps [ Optional -]
12 Mbps [Optional =] 18 Mbps [optional v
24 Mbps [Optional =] 36 Mbps [Cptional -]
48 Mbps [ Optional =] 54 Mbps [optional 7]
¥ Enable Spanning Tree Protocol (STP)
I” Enable Roaming
(STP and Reaming are commen settings. The changes are for both VULAN Interfaces )
Resat

/@g De tradlosa stationerna och NWA3550 méste anvanda samma SSID,
kanal-ID och krypteringsinstallningar for tradlés kommunikation.

WLAN Interface (WLAN-granssnittet): Kontrollera att WLAN1 ar valt.
Operating Mode (driftiage): Kontrollera att laget Access Point (accesspunkt) ar valt.

802.11 Mode (802.11-lage): Valj den tradldsa standard som du vill att ditt natverk ska
anvanda. Om du ar osaker pa vilken du ska vélja, valj 802.11b+g.

Choose Channel ID (valj kanal-ID): Valj den tradlésa kanal som du vill att ditt natverk ska
anvanda. Om du vill Idta NWA3550 valja en kanal automatiskt, klickar du i stéllet pa Scan
(sok).

SSID Profile (SSID-profil): Valj den SSID-profil du vill konfigurera for natverksatkomst
fran rullgardinslistrutan. | detta exempel anvands profilen SSID03.

2 Klicka pa Apply (verkstall) for att spara dina installningar.

102



SVENSKA

3 Klicka pa fliken SSID. ol g o Tt T
Foljande skarmbild
visas. [ mrproiovanel s | soourty | mous | _ces | mz |l
N voip SSID | ZyXELO1 | securi01 | radiusdt voIP Disable  Disable
Kontrollera att = " et - : sttty
T " o SSID03 | ZyXEL03 radius01 HONE sable__Disabld
installningarna for o T T L Dnatio
SSID03 har sina Ol ssioos ZyXELOS | securiy01 | radius0l NONE Disable  Disahle
- I ssioe ZyXELOG | securiy01 | radius0l NONE Disable  Disahle
standardvarden. EEN  ssioor ZyXELO7 | securi®1 | radiusdl NONE Disable Disahle
OGN ssiD0s | ZyXELOS | securi01 | radiusdt HONE Disable Disable
Standard-SSID (namnet SSID09 ZyXELDS | securiy®1 | radiusDl NONE Disable  Disahle
o 10|
P = SSIDI0 | ZyXEL10 | securit@1 | radiusOl NONE Disable  Disable
pa natverket) ar ERIN  ssipn | ZXELM | securi01 | radiusdl NONE Disable  Disable
ZyXEL03, dess E} S$SID12 ZyXEL1Z | securiy01 | radius0l NONE Disable Disable
. rp " [EN ssiD13 | zyXEL13 | securit0l | radiusOl NONE Disable  Disable
StandardlnSta”nmg for EE sson ZyXEL14 | security0l | radius0l NONE Disable  Disahle
Security (sékerhet) ar EEE ssiois ZyXEL15 | securiy01 | radiusdl NONE Disable Disahle
. O ssipi6 | ZyXEL16 | securi01 | radiusdt HONE Disable Disable
Security01. Layer 2
Isolation (lager 2-
isolering) och MAC .isl

Filter ar installda pa
Disable (inaktivera)
som standard.

Om du vill andra SSID-
profilinstaliningar, valj
SSID03 och klicka pa

Edit (redigera).

4 Klicka pé fliken Wireless  SSID | Security | RADIUS  Layer Isolation MAC Filter

Security (sakerhet).
Kontrollera att securityt None
Sgcurlt):01 ar valt och — o
klicka pa Edit security0d Nane
. security0s None
(redigera). security0s None
security07 None
security08 None
security09 None
security10 None
security11 None
security12 None
security13 None
securityld None
security15 None
security16 None

103



SVENSKA

5 Har kan du ange Wireless  SSID Security | RADIUS  LayerZ Isolation MAC Filter
sakerhetsinstallningar Name ¢ Comrmdl
for ditt tradlosa Security Mode : WPAZPEK =
Py . = Pre Shared Key : Th\swsmyWPAZfPSKPresharedkEM
natverk. Vilka Talt_ du ReAuthentication Timer : 1600 |( In seconds)
fyller i beror pa vilken 1dle Timeout [3600 | (in saconds)
typ av Sakerhet du Valt Group Key Update Timer : 1800 (in seconds)
i faltet Security Mode
(sékerhetslage). Valj
. . [“only | Peset
None (inget) om du inte [ ] =

vill anvanda tradlos
sakerhet.

| detta exempel anvands
sakerheten WPA2-PSK,
enligt vilken alla tradlésa
klienter maste anvanda
samma for-delade
nyckel for att ansluta sig
till natverket.

Kontrollera att alla dina
tradldsa klienter stoder
den sakerhetstyp du
stalltin. Klicka pa
Apply (verkstall) nar du
ar klar.

? Om de tradldsa klienterna inte kan kommunicera med natverket,
kontrollera att klienterna och NWA3550 anvander samma
sakerhetsinstallningar for tradlds kommunikation.

104



SVENSKA

3.3 Konfigurera IP-instéallningar

1 Du maste stélla in NWA3550s
IP-adress pa samma subnet
som ditt natverk. Klicka pa IP i
navigationspanelen.

Vélj Get automatically from
DHCP (héamta automatiskt fran
DHCP) om du vill lata en DHCP-
server i ditt natverk tilldela en
IP-adress till NWA3550.

Om du ska anvanda en specifik
IP-adress, valj Use fixed IP
address (anvand fast IP-
adress) och ange den samt
subnetmask och gateway-IP-
adress.

Klicka pa Apply (verkstall). Nu
anvander NWA3550 de nya IP-
installningarna, och du kan inte
langre ansluta till NWA3550
med standard-IP-adressen.

IP

" Get automatically from DHCP
" Use fixed IP address
IP Address

IP Subnet Mask

IT 92.168.1.2
|255.255.255 0
II] 0.00

Gateway IP Address

Reset |

,@5 Om du andrar NWA3550s IP-adress, maste du anvanda den nya IP-
adressen nasta gang du vill fa atkomst till webbkonfiguratorn. Om du
véljer Get automatically from DHCP (hamta automatiskt fran DHCP),
kontrollera din DHCP-server for att avgora vilken IP-adress den tilldelar till
NWA3550. Se bruksanvisningen till din DHCP-server fér mer information.

2 Om du andrade datorns IP-adress i avsnitt 2.1, aterga till dess féregaende installning.

3 Andra de tradlésa instélliningarna i de tradldsa stationerna sé& att de matchar de som
finns i NWA3550. Se dokumentationen till din tradlésa adapter.

Nu ar NWA3550 klar att anslutas till din switch eller router. Du kan gora det nu eller nar du
har anslutit antennerna och monterat NWA3550.

?

° Om NWAB3550 inte kan kommunicera med néatverket, kontrollera att

NWA3550 anvander en IP-adress i samma subnet som din switch/router.

105




SVENSKA

4 Installera maskinvaran

Slutfor foljande procedurer for att installera NWA3550 pa ett stativ eller en vagg.

4.1 Montera maskinvara

I allménhet ligger den basta placeringen for atkomstpunkten i centrum av det avsedda
tradldsa tackningsomradet. For battre prestanda, montera NWA3550 hégt upp pa en plats

utan hindrande féremal.

4.1.1 Forpackningens innehall

Du behdéver foljande:

1 Ett vagg/stativfaste

2 Ett ledfaste

3 En stativmonteringslist
4 Tre M8*110-skruvar

5 Tre M8-brickor

6 Tre M8-fjaderbrickor

4.1.2 Sitta ihop monteringsfastet

7 En M8-mutter

8 Fyra M5*12-skruvar

9 Fyra M5-brickor

10Fyra vaggmonteringsskruvar

11Fyra tegelpluggar

106



SVENSKA

1 Anvand en M8*110-skruv, en M8-bricka, en M8-fjaderbricka och en M8-mutter for att
ansluta vagg/stativfastet till ledfastet.

4.1.3 Stativmontering

1 Passa in monteringsfastet med halen
baktill pa NWA3550. Satt in fyra M5*12-
skruvar i halen och anvand en hylsnyckel
for att dra at skruvarna med M5-brickor.

2 Placera monteringsfastet runt ett stativ.
Passa in stativmonteringslisten med halen
pa vagg/stativfastet. Satt in tva M8*110-
skruvar i halen och anvand en hylsnyckel
for att dra at skruvarna med M8-brickor och
M8 -fijaderbrickor.

107



SVENSKA

3 Justera NWA3550, sladdar och antenner for ratt
inriktning.

4.1.4 Vaggmontering
1 Valj en plats utan hindrande féremal pa en stadig vagg.

2 Placera vagg/stativfastet pa vaggen for att markera hur langt ifran varandra skruvarna
ska placeras. Borra fyra hal for tegelpluggarna.

/@ Se upp sa att du inte skadar ror eller sladdar som finns inuti vaggen nar du
borrar halen for skruvarna.

3 Satt in tegelpluggarna i vaggen.

£§ De medfdljande skruvarna och tegelpluggarna ar framst avsedda att
anvandas till betongvaggar. Om vaggen bestar av annat material maste du
kanske anvanda andra sorters skruvar och pluggar.

4 Passa in monteringsfastet med halen

baktill pa NWA3550. Satt in fyra M5*12-
skruvar i hdlen och anvand en hylsnyckel [
for att dra at skruvarna med M5-brickor.

o
o

108



SVENSKA

5 Satt in fyra vaggmonteringsskruvar genom halen pa
vagg/stativfastet i pluggarna for att fasta M
monteringsfastet vid vaggen. Se till att skruvarna sitter
fast ordentligt i vaggen.

6 Justera NWA3550, sladdar och antenner for ratt
inriktning.

4.2 Ansluta antenner

Skruva fast antennerna medsols pa antennanslutningarna nertill pA NWA3550. Kontrollera
att antennerna ar sakert fastskruvade pa antennanslutningarna.

Se bruksanvisningen for en lista dver kompatibla antenner.

Procedur for att visa en produkts certifikat
1 Ga till www.zyxel.com.

2 Valj din produkt fran rullgardinslistrutan pa ZyXELs hemsida for att ga till denna
produkts sida.

3 Valj det certifikat du vill titta pa fran denna sida.

Mer produkthjalp finns péa http://www.support.zyxel.se.

109



i A h 5C

ik

A TTAA TR P U] A6 NWAS550 UEAT BEE ML (£ F I 7s 61 a7 AP ARid)
DM IETEE % F T Lh e e i A . AR SRS, SN R

g s
A

Ethernet ~
/ I AN
/ AN
/ \

/ | \
/ T \
| |
\ [ AP I

\ /

\ B -
N / /
A ~ o - _ - -

/@5 n e T Internet Ui S E..

NS S AR
1 ERAEA .
2 il Web It &R T
3 i Internet i),
LR,

110



i A SC

1 EBAE

A

MS-POE-IJ

1 i FH DA ) FE 20K B 47 1) MS-POE-IJ ARy s a8 (B A D R BRI 1 CHLYE 3R
ST 3EREE] NWA3550 DL M i 1 .

2 i LUK P 50K F0 e UK M 0 GRS S ENUHE, DI TP R E .

3 {5 B AT ) R ks R A B I B E A YR . NWA3S50 il it PoE  (BLK M
WD A EIOR B RS A .

4 SEIRVIMATR B G, W RS S A UK R O CREIT S ) SRR W4T Il 1Y
DUKMAEBE (B, — & 58 7 i AR 25 BB %) o

1.1 BRSNS AT
« BEIFUN, IS LI LED  GHRHD RiHERE 5O

? Ui LED A gist, iER A S S oM SR i it Wi LED IR k52,
THIRAR LY o

111



i A SC

2 ijj 5] Web BC BT

g {4 H Internet Explorer 6.0 L x4k Netscape Navigator 7.0 BA kit
A, IFia5h JavaScript 1G5 H B 1 BHIEThfE .

21 WEIFEYLE IP Hubk

S G 0 1P R, UL T

e, WEIENA AT 192.168.1.3 - 192.168.1.254 2 [0l (&EZS IP Huhl, 13 7 M #E
% 255.255.255.0, X IR AE T LA AR IS IO 1 S HLRT NWA3550 W48 . S0 (il
FHFMY , SFBEETHENL P dhhk A B .

2.2 % 33] Web Bl B

,@ ST LAC 2% 4 2] NWA3S50,  (HId I o A SR TH L2 31 LUK
WA i 1 BEAT AT AR

1 )35 web Jbids. MIA 192.168.1.2 [[ mle Edt view Favortes Tools  Help
(NWA3550 [fJBRIA IP Hulik) 1EAH |
k.

|address | http:jj192.186.1.2 |

? WIRICE Vi ) Web BUEFE>, 150~k NWA3S50 (1) [P Hidik A1 M #6555 1%
HANLE R — IP daibu ) (ZREH 2.1 .

112



i A SC

2 i Login (&%) (CHAERINE
i3 1234) .

NWA3550

Enter Password and click Login.

Password:

3 JH Rk BB ok B SO R, I
i Apply (N )o 1555 ok B
ﬁ%ﬂfﬂfﬂ% ’ ﬁﬁéﬁ?‘f%é{l% ° Use this screen to change the password.

New Password: =
Retype to Confirm: |

? I RAE LR e sid 1Y, 72 NWA3S50. Ik R ALY 7

4 'pik Apply (T ) RE T 10 o
ZATER T BAE s W RBLEA

%%ET%E% , nf u$$ |gn°re ( 2. Replace Factory Default Certificate
Eﬂ% ) PA é[ﬂééia&ﬁ ° The factory default certificate is common to all

NWA models. Click Apply to create a certificate
using your NWA's MAC address that will be specific
to this device.

113



i A SC

5 LA 2 Box STATUS CRZD B4, EHZEE

STATUS

LCEIL LI Automatic Refresh Interval [None  ~] _Refresh

SYSTEM
WIRELESS
P

REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LoGS

VLAN

MAINTENANCE

LoGoUT

3 Fic & NWA3550

I HERAGRE
1 il SHCIR ) SYSTEM (R4 ).
ZyXEL

STATUS

MGNT MODE

SYSTEM
WWIHELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

114



ff A S

2 kAT I SYSTEM ((£4: ) > General (F#1 ) BF4E.

SYSTEM

Password Time Setting

NYWA-Series

General Setup

System DNS Servers

System Name ( RZ4 0K ) T ML L NWA3550, %5 MR AR, B0
PR B F BRI

Domain Name ( 34 ): WIR ISP FE A KT G AUE, WREMRA—A. &N, ]
DL HAR A E, 5 A i E AT o] LLE R 4R

DNS Server(s) (DNS Jik%%8 ): & ISP $#24U5E DNS (A RS) #E, ikt
#% User-Defined (/i ), JEAEdbAbfii NiZ i o

3 i Apply (N ).

115



i A SC

4 B LA RE

1 E TE'_'_ '.}E E*}i I:FI ZE% Q_F Wireless SSID Security RADIUS Layer2 Isolation  MAC Filter
WIRELESS ( j[;éjz [X_)S] ég. WLAN Interface [wiant =]

Operating Mode Access Point ¥

), E%u?ﬁ%a 802.11 Mode [a0211bg =]

I Super Mode

Channel ID Chaninel-05 2437MHz =
RTS/CTS Threshold T )
Fragmentation Threshold 2346 (256 ~ 2548) (Fragmentation threshold shal be an even number)
Beacon Interval 100 (s ~ 10003
DTIM 1 (1 - 100)
Output Power 100% -
SSID Profile SSD0G x
2 Mbps
5.5 Mbps [Basic  -| 11 Mbps [Basic =]
6 Mbps [optional x| 9 Mbps [optional v
12 Mbps [Optional ~| 18 Mbps [Optional -]
24 Mbps [optional x| 36 Mbps [optional ]
48 Mbps [optional =] 54 Mbps [optioral v

1% Enable Spanning Tree Pratocol (STP)
I Enable Roaming
TP and Raing ar commn satings. The shanges are forbth WLAN rerfaces)

Rosat

/g JoE s & 5 NWA3S50 2 fif AR TF 1) SSID. AiiE 1D RG24k {5 hn s
o

WLAN Interface ( LZEBEMIED ): #i{f CZEHF WLAN1.
Operating Mode ( #:/E ): R CES Access Point (7 s ) B
802.11 AR : PR BAICR H M T hritt . WIS LT —14, MILEFE 802.11b+g.
Choose Channel ID ( #EFHIHE ID): &£ ML ACKH ITCLHE . ik NWA3550 [3)
WG, T Scan (47 ).
SSID Profile (SSID Ao S ): ATz R A % £E 5 2K SSID AL SO R M 45
Yillo anBifd )L SSID03 il & S ]

2 uili Apply (N ) DLARAF R E .

116



i A SC

3 il SSID M. Jhif
SRR N AR

Tifi{#% SSIDO3 1% &3k
BRI .

BRI\ SSID ( RIZ 475 )
i ZyXELO3, FLERIA
Security (¢4 ) WEZE
Security01. BRATEIL
T, Layer 2 Isolation (
¥ 2 JEMERE ) &
MAC Filter (MAC i1 )
Uifie#i &4 Disable (
H ).

WIRSH G SSID FLE 1)
wWE, kR SSID03 Jf
il Edit (4 ).
BRI R,
ci%kH+ Security01,
Ja i Edit (4% ).

T AR
N

7N

ireless

Sourity

ayer-

solation

ilter

Layer2 | MAC

EIEN vorr ssi0 | WWWT—
g il

SSID03 | ZYyXELO3 | securit1 | radiusdl NONE
Bl ssioos ZyXELOS | securiy0l | radiusdl NONE Disable Disable
Bl ssios ZyXELOG | securiy0l | radiusdl NONE Disable Disable
BEEN  ssioor ZyXELO7 | securiyd! | radiusdi NONE Disable Disable
I ssios | ZyXELOS | securiydl | radiusdt NONE Disable  Disable
I ssi0s | ZyXELOS | securiydl | radiusdt NONE Disable  Disable
EINTN  ssiDi0 | ZXELID | securiyl | radiusdl NONE Disable  Disable
FIRTN  ssip1 | ZXELM | securidl | radiusdt NONE Disable  Disable
IR ssiz | zyXEL1Z | securitydl | radiusdt NONE Disable  Disable
BN ssio ZyXEL13 | securi0l | radiusdl NONE Disable Disable
B SSIDM4 | ZyKELM | securind! | radiusdl NONE Disable  Disable
B ssiois ZyXEL15 | securiydl | radiusdi NONE Disable Disable
IR ssiDi6 | ZyXEL16 | securiydl | radiusdt NONE Disable Disable

@
Wireless SSID | Security | RADIUS  Layer2 Isolation MAC Filter
Cormmerts Mo

securit01 None

| securig03 None

| securityld None

| securit5 None

| security06 None

| securit7 None

| security08 None

| security9 None

| security1 None

| security!l None

| security12 None

| securiy3 None

| security1d None

| securitys None

| security16 None

117



i A SC

5 0] LLLE LA I N TC L X 2% [ wiretess Security | RADIUS  LayerZ Isolation MAC Filter
FI/‘J ﬁé-&fg— o ’i\E%?‘j—: Name : security01
Security Mode ( ?é*ﬁ Security Mode : WRAZ-PSE - v

\ . N e Pre Shared Key : ThigismyWWPAZ-PSKPresharedke:

2\ ) TR TR 7 A ReAuthentication Timer : [T600 |{in seconds)
RMPIANE, HS 7B Idle Timeout : [3600 " {in seconds)
é\ﬁ}i}?%ﬁ:ﬁ‘o ﬁu%%‘%{f Group Key Update Timer : 1800 {in seconds)
Mg, WigiEsE
%0 Feset

ZoRBE ] T WPA2-

PSK 4 (Fiti K4k
JE R ZRAL FH A [R] () A
SLER], DA
%) .
ORI Joe ) o 8 S
PSRRI LRI, 58
1, il Apply (R
).

?

NWA3550 #H 7.

WRTCEE 7 i ik S AN, TR OR T S A e L e E

41E IP RE

1 875 2% NWA3550 [ IP Hihk
T B N 5 1 P 484 T AH R T
W%, o PATE RS P IP,
IR EAE M %5 1 1¥ DHCP /il
4-2% ) NWA3550 fic & 1P Hh
Ik, 1% $ Get automatically
from DHCP ( 5z )\ DHCP 314
).

IR O TUE AT KR E 1P
Mk, i%i%#E Use fixed IP

1P
IP Address Assignment

& Get automatically from DHCP
 Use fixed IP address

IP Address

IP Subnet Mask

Gateway IP Address

IWBZ.]BBJ 2
|255.255.255 0
ID 0.0.0

Feset |

address ( ffT [l 5E 1P ik ),
FERINZ P Mtk DL & T PGS
FRSE 1P Mk

Hidi Apply ( H ). NWA3550
BULEAE I 207 1P #E B8
WAL HIERIA 1P bR 2
NWA3550.

118




i A SC

g LT TE SUNWASS50(1) 1P ik, T AT FH 19X 4% fic 2 s B e 204 FH B ) 1P
Hihi. Wik Get automatically from DHCP ( A5\ DHCP 3k7%
), iEf A DHCP JIkssds, PR ILHCE 4T NWA35S50 ¥ IP ik, iF

Z %] DHCP g5 asfutWiscrr, 1k iEdn (i o

2 WRIEAEET 2.1 W TIHENL IP bk, EE IR E R R E
3 MLy e, LIUCHL NWA3550 H i B2k % 5 . 15510 J6 26 18 i 25 150
IER G
NWA3550 I CLAERS s, 1T LOEE: BRI E M A . 0T LIAZ REEAT BE e, Ble %%
R HH NWA3550 2 J5 k1T .

? U RNWABS50C7k M4, T fRNWASS501E I 1) 1P Huhik 55 A2 #edlL
/B A AL AR R 7 P 2%

5 LA
SERLL RS, 5 NWA3550 225 b T i |-
5.1 T2

HH V7R R B AL BN R O i DR TR ARG AR TERE, TR NWA3B550 %4
BAEAZ AT X I i A

5.1.1 A3E5IR

119



i A SC

i ZELL R

1 —/MEEEE /b B 7 —/> M8 12k}

2 — NSO 8 PU/> M5*12 1842
3 — AR LA 9 44> M5 # [

4 =4 M8*110 g 1014 /4% B 22 G 1R 22
5 =4~ M8 [ 1179/ ik 5€

6 =~ M8 i £ ]

5.1.2 A3 s IR

1 A M8*110 1822, —A> M8 HufEl. —A> M8 Ff B F B Al — A M8 IR R, Kk / 4 L
SO R SOE IR K

ﬂ“- -[: eI
SeEL =

5.1.3 B b2eds

120



i A SC

1 W43 9 5 NWA3550 J5 T AL 55
B VYA M5*12 R 22 4{ AL, AR T4y
B M5 BB (g 22

2 [IGEHE U e SO0 o AL b e i 5 0

BE R ESZ B RALA SR . B A M8*110
MR 3 NFLF, AT R 3E M8
DL M8 g5 44 B i IR 2

[

N

(i

3 7 NWA3550 [ RLZERI R 2R, AliEd ) 1
i

5.1.4 HGEE 2 5E
1 TR f B B e A LR o

“
mll

[

2 KERREE [ RE ESOOUE T REE b, bR NOZECE IR R . B PYANSL, DU EE .

B LB I LR R S R B A s

3 R IE ARG EE .

121




i A SC

,€§ B PR 22 1 2 ] TR B L B . R BRBERS TR ANIR], R n] e A
FHASFI MR 22 A 7 o

4 42 He 3B NWABS50 J 1 1 FLx 7

° ™
4 IUAS M5*12 8222 56 \FL o, AR T ﬁfffffffiT“
LA M5 R4
Q7S |
0 0
0
Ui
L~
5 S RERIAE /SR EROTL, DY/ R R
PR AR, 4450 S R S BB L R .
U 2 T 7 R I o
‘—
Z
=
4_.
LE_‘J

6 17 NWA3550 I HIZE AR L, a1 1E4 .

5.2 ZEER L

e REALMI B J7 01 770E NWASS50 JEE AR IR LI Heds o T DRoR R Lo [ M 0 R ki
wr

122



i A SC

WZM RN, TR RLIIZR.

BEEMIEBRS B
1 555 www.zyxel.com,
2 7F ZyXEL ETUM TR 8 RME s b, DABEN = fh LT
3T IR EARNIES.

123



29 Y

2|
T

#%

R F'F?pw ﬁw“fi/'[ﬁif%fﬂ'r%i NWA3550( '} » syt 15 AP ) » I'] R 56|
FUEIVE ARG R (R o VIR

g s

S e
Ethernet ~
/ I N
% = N

/ \

/ I \
/ T \
' |
\ [ ] AP I
\ L /

\ -
N [ ] P
~ o -
~ o —7 _ -

,€§ [ e R AT AR 3 vy

! [‘J"Fﬁ‘}ﬁ’ fRpli:
1T -
2 [P IAHE I%Jt PR
3 %Hﬁ@;ﬁ% B
4 i%&’{l?ﬁ'

124



A

MS-POE-IJ

1 iR e s S T MS-POE-1 ﬁﬁa IS A) TGN (TS
1) SEFF = NWA3550 fiu 6y

2 RN b TSR (PR ) U = RIS SR E R -
3 iEIE'J@ﬁEJ;ﬂWwMjﬁFEH RAHLEE = TR - NWASSS0 7] PoE (e i) #E
PSR PR £ S -
4 KA IR IR
Rligd (B YOS A R )
1.1 ﬁﬁ?‘cﬁﬁ}‘ﬁ-ﬁ%ﬁ
* FPRIR - SRR Y LED g (e

?

( Fﬂlﬁlﬁﬁﬁf%é) SELEE = JRLE S A VR

f/w LED 7 A i o iy liish o 20 A BERSGRL - IPH0 LED 4
S %H‘ﬁ*%ﬁ f[ﬁ%r& 3 F

125



2 B R
/g @@

| Internet Explorer 6.0 I') 54 (% Netscape Navigator 7.0 I') 45
TR JavaScript AT b B RS o

2.1 I:%}"?\L_"%q%‘lﬁfj IP b

/@5 @El ’TF" JpJ P %LI IJ %t:r

FI =178
;: °
F

fi G 4 192.168.1.3 - 192.168.1.254 LV
RS, 258 255 255.0 - T I[

f}ﬁ\: IP kg ﬁ«;.[j'a °[ﬁ ﬁ
F ;T; B 2 pJ ’TF:[F"?INWA 50);145?&@4 %Je
I *“V@F EREE P '**ﬁuﬁ'w“@”

\&—x —r \ﬁ?’n%{}hl}[

25

I =1fiE 2 A5G = NWAB550 » {1 7 B 4 | -t it 2]
*a«v[ﬁmg{ﬁa

1 E@@mﬁﬁ TR p@g’* gl
92.168.1.2 (NWA355

| File Edit
Flfﬁﬁr%}“ IP &
=) .

J Address I

Wigw  Favorites Tools  Help

http:fi192. 166.1.2 |
? PPN B %’ﬁ
SR A ] TP

,'jﬁﬁﬁéf'i NWA3550§’FL—‘§ G 1P
iﬂﬁ&é‘J/H (= B a2

b R S e

126




2 8- " Login (} ') (PR
1234 =g {L FWE

NWA3550

Enter Password and click Login.

Password:

BRI - LU FEHEE I
- Apply =10 JE\[F‘ Rt

'14 ]ﬁ?jcﬁ\ W, |§J S N Use this screen to change the password.

New Password: =
Retype to Confirm: |

? g[JIE ig LY e IR GO » R TR NWASE50 - s i

4 - Apply (RN ) TSRS
ST 2 g T
ﬁh@ﬁl E [ Ilﬁfg 4_# Eg -+ Replace Factory Default Certificate

Ignore ( E' REEE T - R The factory default certificate is common to all
NWA models. Click Apply to create a certificate
using your NWA's MAC address that will be specific
to this device.

127



5 {1l STATUS (JIRfE ) i« —

MGNT MODE

SYSTEM
WIRELESS
P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
VLAN

MAINTENANCE

LoGoUT

3 F%“i[—_ NWA3550

3.1 Bt

1 T IS - T SYSTEM (555K ) -
ZyXEL

STATUS

MGNT MODE

SYSTEM
WWIHELESS

P

ROGUE AP
REMOTE MGNT
AUTH. SERVER
CERTIFICATES
LOGS

VLAN

MAINTENANCE

LOGOUT

Automatic Refresh Interval [None | Refresh

128




B IS,

2 il SYSTEM > General ( £k > — 48y -

SYSTEM

Password Time Setting

NYWA-Series

General Setup

System DNS Servers

System Name ( =7k €7 ) ¥ ?ﬂfﬁ,c, A NWA3550 - 3% - [’[EUE;J’% el F‘fpéi?},’
;lﬁ%t[fﬁ o

Domain Name ( il £78 )t il ISP EI‘HE“ 1{ﬁi§§ ; %5 |7F§,|‘j*§:?1
TEIU [T ;]_Jl b ljvz"?zftvi“f IF\/F%LJ;& 3!.:; IE - F”l‘ ,15

DNS Server(s) (DNS []h]wg DY RS ISP E j:ﬂqﬂgj .I{ﬁjgj, S B ;
o %L?V User-Deflned TP > 2 ﬂ—“—&u_g:?1 E}}

3~ Apply (=7]) -

129



3.2 b qa

I:l WA
=z - )
1 =+ L:E:L .ﬂ I}' IWH [H EEEN Wireless SSID Security RADIUS Layer2 Isolation MAC Filter
W|RELESS (= S ;’ﬁ{ﬁﬁ% WLAN Interface WLAN] =
- Operating Mode Access Point
LMEE” ;j\ ;P I:L[ o 802.11 Mode 802 11b+y .«

' Super Mode

Choose Channel ID Channel-06 2437hHz v

RTS/CTS Threshold 2315 lasnzse

Fragmentation Threshold 2345 o0 2248 Cragmentation threshold shal be an even number)

Beacon Interval 100 Gams = 1000ms)

DTIM 1 a1 - 1oy

Output Power 100% -

SSID Profile S5D03

Rates Configuration

| Rate [ Configuration | Rate | Configuration |

1 Mbps Basic x. 2 Mbps Basic v
5.5 Mhps [Basic | 11 Mbps [Basic  ~|
6 Mbps [ Optional =] 9 Mbps [ Optional -]
12 Mbps [Optional =] 18 Mbps [optional v
24 Mbps [Optional =] 36 Mbps [Cptional -]
48 Mbps [ Optional =] 54 Mbps [optional 7]

¥ Enable Spanning Tree Protocal {STP)

I Enable Roaming

(STP and Reaming are commen settings. The changes are for both VULAN Interfaces )

Resat

NWA3550 < 1(fi “ [HfIffljis SSID - 403 1D Wit -
QQ—L o

WLAN Interface ( ’?"@" L T ) '?ftg't 2389 WLAN1 -
Operating Mode ( [E3fEi=4 ) : FEfJLUHc; £V Access Point ( gli*’jff", ) s
802.11 Mode (802.11 &=V ) : ?Vfd?f@ﬂﬁ,n [P PUSAsUEE o F Frgiij[lﬁ e, %

Y 802.11b+g -
Choose Channel ID (E{EHEE ID) ¢ J ) WA P P A - F Rl
| PG SRR

NWAB3550 [ IEE 2 Vaig » - Scan ( FF*JEF[ ) o
Short GI ( a*r@g@@ FORGEBLE] ) ([ NWA-3165 n/g #8102 ams |
PG R » 22V Enable ( FY” S E L {0 Disable (7)) -
A-MPDU Aggregatlon (A-MPDU & ) (&L NWA 3165 n/g fE=0 ) [N E SRR [ E
T2 MAC Y eril & F,?ﬂﬁ v% {9 Enable ( ?7“ ) o P %1_@ Disable
(f@E] ).
SSID Profile (SSID 4™ 4 *ﬁ FOHH U RLE IV VAR e [0 P SSID F%“‘JL
;IFA F ] 8 ID03 JL%'\" &

24— Apply (E"]) ITIH R F%"z“ °

130



I

3 #- " SSID &

° LL[ rl ireless ecurity ayer Isolation Titer

£y
HIP e
e [ e tarel 50| socurs | _wows | ous i | |
Fei SSID03 - F% FT

N voip SSID | ZyXELO1 | securi01 | radiusdt voIP Disable  Disable

wp%gﬁ ° )
T TR —— =

;g?}« SSID ( Ijﬂﬁ%ﬁfj [b[ N ssioo ZEELD | securinl  radiust NONE Disable  Disable
. - Ol ssioos ZyXELOS | securiy01 | radius0l NONE Disable  Disahle
F; ) Eh ZyXEL°3 ’ I[ Bl ssons ZyXELO6 | security0l | radius0l NONE Disable  Disahle
SE - e EEN  ssioor ZyXELO7 | securiy@1 | radiusd1 NONE Disable Disahle
F[E% Security (= OGN ssiD0s | ZyXELOS | securig01 | radiusdt HONE Disable  Disable
Li Secur|ty01 EEN  sson ZyXELO9 | securiy®1 | radius0l NONE Disable Disahle
;z e, ORI ssipi0 | ZXELID | securig0l | radiusdl NONE Disable  Disable
%\ H Layer 2 DBEIN ssip11 | ZyXEL1 | securit®l | radiusOt NONE Disable  Disable
Isolation (g‘j 2 El"[ﬁ% DN ssicz | zyXEL1Z | securi0l | radiusdl NONE Disable  Disable
-~ , . ERE sson ZyXEL13 | securiy01 | radiusdl NONE Disable  Disable
fy #Z) * MAC Filter ORI ssio | zyXEL4 | securi0l | radius0t HONE Disable  Disable
EEE ssiois ZyXEL15 | securiy01 | radiusdl NONE Disable Disahle

(MAC ; ’5' ) ;JJ fﬂﬁ O ssiD16 | ZyXEL16 | securi01 | radiusdt NONE Disable  Disable

LA, Dlsable ( (]

) °

IR SSID @
e ﬁpx@ty q?/
SSIDO }%4 5 Edit
(A )

H‘; N Security (i{,%‘ Wireless  SSID | Securlty | RADIUS Layer2 Isolation MAC Filter
5N ethul s By
= o MET an J
) AERE e AR :
Security01 > Ry - socurity! None
-« it (s
Edit ( ""I"jgig ) ° security03 None
securityd None
security05 None
securityls None
security7 None
securityd None
security09 None
securityld None
securityl1 None
security12 None
securityld None
securityld None
securityls None
securityl6 None

131



5 L i J o £ Sﬁ;{:‘[ Wireless SSID Security | RADIUS  LayerZ Isolation MAC Filter
EISL Fl JT]!/ F%‘L o fF :IGE rﬁ Name : securityl
\L securlt Security Mode : WPAZ-PSK =
Tz j%krl" ok ky Pre-Shared Key : ThisismyWPAZ-PSKPresharedke|
Mode ( j’ )Fg% ) )ﬁ% ReAuthentication Timer 1800 | in seconds)
b & TV i DY N = ldle Timeout : 3600 |(In seconds)

E|§ tFJ Fl J/ﬁ"ﬁ i o JIp Group Key Update Timer: [7200 (in seconds)
B AR s 2

B
jj_‘ % V None (_‘\ Feset

¢§57J|§£|E'J WPA2-
PSK 4’2 §iiii » 1=
%J/’“ JB’“* ’FJ%?JM@
P E g R AR
T I & ﬂ‘lﬁ
5‘ o

FEEARE A Fid
g 2 5
B o (B ARV
~ " Apply (")) -

? DIV A P R SRR i R T a2
NWA3550 4l -

e

132




3.3 F@':L IP F%':L
L iU NWASS50 i) 1P i 41
%{t EHP IEIJ [Emf‘ g ,j:)FEIJ:

ﬂan LTS IR

IP
IP Address Assignment

" Get automatically from DHCP
" Use fixed IP address

YN [ ﬁE‘f‘, fy DHCP IFJ IP Address [19z16812
%’/%g,t NWA3550 Fi PFLFII IP b IP Subnet hask [255 255 255.0
bk G Get automatlcally Gatoway IP Address Pooo
fro DHCP( f§- DHCP Zv
e
IR R 1P _Reset|
fib > SHET0 Use fixed IP
addre s (fHIEE IP Aoy
#’EA ? IP '*{lH Bg"ﬁﬂn&
E”"g 1P fbdko
é%’  Apply (")) -
NWA3550 BRI FI’J}JE? IP
?'4& RIEE R R IP A
il%@i%# NWA3550
g YN AR NWA3550EI‘J IP b FI S 0 [ °ﬁEII%‘ fi EIEJj IR
IP i o YLl E TV Get automatically from DHCP ( [ 147§ DHCP JVif
ﬁ i [ DHCP ||§F7a“5 ’ Eﬂ‘—ﬁfb'“" NWA3550 [+ IP b g1k ﬁ%
EJ HCP EJBE*EELJ F'F “Vra@,ﬂgf

2 i/DF»'L s ﬁIE’TTZ L AERI R 1P i S [}fg;;k,rglsrr%{

FRAEAL]

g EI}%% FU

3 1@E| o= J:EIFI Jﬂ N }*g(‘%}“{‘ ) IEI e NWA3550 FIJ

NWAB550 =1 fif dipdf - 111 sl = By s

LEBYHEY NWASS50 [V i F &= -

[y

ABEF PR

RLES

?

/ EI?IE[IEL” ,+1;A;[:E|{FJE S ;lsz N

vD%\l NWA3550 ii@;l’ﬁﬁlﬁj‘m% %T]TE—L‘NWA355O IE[FI E S| =] r‘f‘ _fl[_gll—;—'\ %%

133




4 VAT
B SRR NWASS50 44t fhl i L -
4.1 @%}ngﬁ

T o AR BLI R R BRI S B B O 1 < F o NWA3550
ST 3 ﬁ%ﬂ%ﬂ’%' 4:&%,]55 LR -

4.1.1 WP H TR
BRI TR

11 (e M 71 M N8 fRE
21 L 8 4 FLMS*12 s
3] f{ﬁﬂ#%’%{ﬁf’% 9 4 i M5 f?\HI
43 L N8*110 fBlss 104 AURE 1 SRR
53 i M8 By 114 {0t

63 i M JEHy

4.1.2 REHEVHES Y

134



Cac ik

L 1A MBEILO fRAR 1 [ M3 HRE - 1 M8 SRR L M8 PR SRR/
P B SO E -

-

4.1.3 W H5E
LD ISR NWASSS0 FTE I < K 4
AL MS* 12 SR J“ F=A1MS
E b R -

2 F1HED SR T o KA Fi&’%ﬁ‘?&f’%’%ﬁ%
jﬁq 1 /AR RO <R 2 AL M8*110 i

R AL By AN TR s
M8 s -

135



SR

3 G NWA3SSO ~ BTRCHI-CEL (el i T Y -

4.1.4 P 5
L B WIrhE EPE - R
2KPRE AL SO TR RGOS - ST L

25 BT o G S A u oA -

3R LR FERENR L -

S g A e S B HRFT AR R
U IR -

4L ERE NVASSSO FTFII - 4 -
L MS* 12 JRARAE I - AN — )
E gl S L -

136



£

5 4 AU 1 SR b S Ep WE ISR jg g
}LH FEL LR FEgJ‘E\EJ“’&T‘—‘I A T
i
o .
=
&=
<«—
L‘E__‘/

6 G NWA3S50 ~ BTRRAAR I I L ) -

4 2 i’%_\ﬂ
TS NWASSS0 < R B+ R O SR B
B PP A -

ﬁﬂﬁﬁ' ﬁmwﬂﬁ*l

1= www.zyxel.com «
2 % ZyXEL FUEIO 4SS (0T f oL
3 A IFIEVEES EIFIJF SR o

ﬁFs

FE Fﬁ#[F’fJ;TI[ﬁEJ °

—O

137



	ENGLISH
	DEUTSCH
	ESPAÑOL
	FRANÇAIS
	ITALIANO
	РУССКИЙ
	SVENSKA
	简体中文
	繁體中文

